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‘to base his future progress in go.

|
|
1
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PREFACE

|

Tius collection of ‘problems 1s intended <or players who have just

learned the rules of go. The problems cover all phases of the game,!

{from the opening to-the endgame, and thc “third chapter is (lﬁv'Oteﬂ
to life and deatir problems. -

it 55 assumed that the reader of this hook h;xs studied a -good

beginner's book on go, but for reference we have mcluded 2 b'rief;.’

summary of the rules-as well a short guide t life dnd death probiems
It 18 my hope that by studying and solving tlie problems in these:
four volumes, the reader will establish 4 solid foundation on which

March, 1985 Kano Yoehmon 9-c1an
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®oL GLOSSARY |

~atari — check, 1.e.-a move threatening to captur
-dan — a rank given to piayers to indicate th

“#"he j§ promoted to amateur 1-dan and as h
.. numerical value of - his dan increases. The

.. usually 6-dan. The professionai dan ranks
to 9-dan, which is' the highest rank attainab

s usual]y about two stones strongér¢han an anlateur 6-dan, See kyu,

aouble -atar — giving atari to two different
ame fime.

.(Jye —-4 point on the board which is surro
.-same color, . :

wo — ashape in which your stone is captured
_the capturing stone;even thougn you can occ

@}yu —.a rank given to players to indicate thd
-'Begirfiners are ‘arbitrarily classified at 30-k
-“stroriger, the numerical value of their kyu

¢ on the next move.
_dame — neutral points which profit neither Black nor White. :
eir strength at the game. !

* When a player’s strength improves 4fter attdinﬁng the rank of I-kyu,

+

* I lﬁ“‘

1
i
L
H
l

e becomes stronger,. the
top amateur dan rank is
start at J-dan and go up-
le: A professional 1-dan

groups of stones at the
un%ded by stones of the

1
but it is illegal to retake
:p‘y all of its liberties.
ir'strength at the game.
yu; and as they become
de'creases. For exampie,

15-kyu is stronger than 20-kyu. See dan.

oiotoshi — a move which gives atari to a grou‘j) of stones in such o way

" ~that no matter how one defends, the g group will'still be in atan,

Seki — ‘an impasse or stalemate position betw}een groups: if one side
tries’to attack the other side’s group, his| own group 1s put into
-atan and dies, Therefore, neither side can attack or attempt to atari.

-.smwbac!c — a tactic in which one stone 1s olfc}red as a sacrifice and if

- itis taken, the capturing stones are in furn ca

ptured.
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SECﬂION 1. HOW TO CAPTURE STONES

F T R s

PR e YO

b e W e 2 B el B o R el T

i b Wik it

How doe

'\ \PROBLEM 3. Black to play.
s Black play to capture a white stone? -

]
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| | PROBLEM 1. Bluck to play.
How does Black play o capture a white stone?
4 |
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| PROBLEM 2. Black 1o piay.
How does Black play to capture a white stone?
!
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PROBLEM 4. Black to play.
How can Black capture two white stones?
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: POBLEM 5. Black to play.
How can: Black capture two white stones?
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PR ()BLLM 6. Black to plav,
How can.8lack capture two white stones?
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PROBLEM 7. Black o play™. - T > = _ SN S ‘
How can Black capture two-white'stones? -~ - A B " ‘PROBLEM I0. Black to play,
. ‘ o T ‘How can Black capture some white stones?
i ! I } .
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"PROBLEM 8. Black ti play. E— - "PROBLEM 11. Black to play.
How can Black capture some white stones? . f . T T How can Black capture some white stones?
‘ T . S | | i
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;{\
- vy
: : : L ¢ .._ l !
: PROBLEM 9. Black to;’_play.'. ' * L ’@» ) " PROBLEM 12. Black to plaJ/. [
How can Black capture three White stones? B S o How can Black capture one white stpne?
. . - ' I i 5 -5 |
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PROBLFM 13, B!ac.; to piay,
How can Black capture some white: stones?-

.

J*PCU)’LJ:M 14 Black ro Dlay
How can Bl'lCK capture SO]T:.P wlnte stones?

SECTION 2, HOW TO SAVE ENDANGERED STONES

.

: PROBLEM 15. Black. o play ‘ o
. How can Black save his enc.angered stone" )
:.," : _ 6 _ .
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% o ‘ PROBLEM 16, Black to play. '
e One black stone is about to be captured. How can Black save it?
Tl

- ‘(*

PROBLEM 17. Black t6 play
: Two black stones are in danger. How can Blgck_ save them?

e e o R O T i3l
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- PROBLEM 18, Biack to pl

- |
- - One black stone 1s about to be captured. How can Black save it?
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o7 PROBLEM 22. White to play, L
Black has played 1 Is there a way for Wh:te to sa;ve his two stones?
i ‘ o " SECTION 3. RECOGRIZING ATARI
‘. PROBLEM 19, Blaclc m play: - . - L‘_L - o
Three black stones are in danger How can Black save them" : - —
L , : ) . i ]
¥ : _ PROBLEM 23, L‘lack to playl’ |
4 “How should Black give atari to the two white s ones on the edge?
. PROBLEM 20 Black tn play.; ) o (az‘arz - check 1.e. a move threatening to capturd on th:, next move)
Black doesn’t want to'lose his two stones, How can he save them? ‘_ T | |
2 ' o
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PROBLEM 21. BIack fo play

PROBLFM 24. Black to play.
How can Black play to save his three endangered stones"

|
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W]uch way should Black give atari to'the white st'ron

e 1n the center?

'
'
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PROBLEM 25, Blaci: to pla‘y. - B - ‘ P
— How should Black give atari to the'three; white stones?’ -
: : T . i —
: ‘ PROBLEM ’98 Black to pz‘ay
- - How should Black give atari to the lone white stone?
. S .l ;
o@ - | |
PROBLEMN 3 26. Black 35 play.‘- T Y AR TR L R jt
v - How should Black give atari to the'four white 'stqnes?:_v | Lo . T T \’) ¢ i
. e RS i T oo . PROBLLM 79 Black to play. |
) : ; ' i . How can Black give double atari?
i , I : e (d_&mble atart — glvmg atari to two stones uit the same time)
-, | . ” l"\
I ) = e
A i : t
R © PROBLEM 27. Black ruplay S ; e PROBLEM 30. Black to piay, -
oo How shouid Black give atari to the three white stones? - ) % ; R - How can Black give double atan




SECTION 4. CONNECTING ANI; SEPARATING STGNES

L]

How should Black. play?-

PROBLEM 31. Blaci to play. T

A

5
’

)

:

_ -PROBLEM 32, Black to play,
‘How should Black play so-as to’*-co_xi_aect up;

:all his stones?

How can Black

e 12 —

PROBLEM 33. Black iv play.

keep the two groups of white stones separafed?

j

- |
i
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- FROBLEM 34. Black 1o play:
. How‘_&hould Black respond to White 1?
i . e . | N |
- SECTION 5. KO' || !

"
pom
P

= White plays

i

i
1

'PROBLEM 35. Black to play. |

|
{

double atar with 1. How should Black reply?

o
5 i

b0 &

White 1 captur
J{ko —.a shape-
retake the capturin

PROBLEM 36. Black to play
$ a.black stone in ko. How shd
in which your stone is captured
g stone even though you can o

(31
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ould Black reply?
but it is illegal to
ceupy all its liberties.)
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T PROBLEM 37. Black to play, o -
T How should Black resposd to White 17 | =
S I 1 = 7 :
e - @% ]‘ u L I I ° ) 1
. . : N . ! BN - : ‘
/- Ei i & - : PROBaLEM 40. White to play.
: O i I Black plays double atari with 1. How shcruld White respond?’
@) ' : £ SECTION 7 'LIVING GROUPS AND DI:AD GROUPS
: |
,. \ : ? ' 1
_ B _ PROBLEM 38. Blac i to play. .o - - !
O A What is Black’s best move? ‘ - :
e SECTION 6. LADDERS =~ = . 1
. 2 !
i . |
H .‘, - . . 7 ) . B . . 1
; P ST PROBLEM 41, Black to play.
=y 0 : L e How can Black give his seven stones life?
‘ l' : : " (A group of stones is said to be alive if it can make two ‘eyes’.
| o : : N ; ‘Such stones can never be captured. A group|of stones is said to be
PROBLEM 39. Black, to piaj/ - ; ‘ -dead if it cannot make two eyes. Such stones will eventually be
d y Y . bk iy, : . PR H . )
How can Black capture the i'f‘.X'e white stones? - ‘ m.I\cn off the board as prisoners.)
4. - o o — 15~
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- PROBLEM 42, Black'to play.. R -
Where does Black play to kill the white stones? . : .
. o=
Y
N : )
e |
PROBLEM 43. Black o play, . i ! R  How de Whj | f’ROBLEM 45. White to plap, i | o
‘How can Black play so as to give his eight stones a living shape? 7 { . How does teplay to give his stones at the top and bottom life?
) : - " ‘l“— -
i 1 |
o l
- ’ - ‘. . g 3’ . R .: .ﬂ
e 4 - = e ‘i . }, - \T: y ] | :
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PROBLEM 44, Black to play. : RC : 2N
How does Black kill all the wiite stones? . What about the white group in the center? I it alif

Iiye or dead?
|

|
!} - PROBLEM 46. Alive or deag? L
: 1 S ¥
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SECTION 8. HGW TO PLAY:IN THE OPENING- = : . -
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! . . - . : ‘. ¢ = R . |
S | PROBLEM 47, White 1o play, | R T |
i : Where does White want to-play? 1 . PROBLEM 49, White to play.
il ' (There is more than one: sorrect answer.). T . O . - How does White answer Black/ 17
e B . 1 !
k) BNt A B — ’
- " . . i . . . ]
5 N ' Y
b | B e e O |
- \1) " I - . A
- .
; : . i - I | |
N : - 0 ¢
[? | . . X . - t. - ” ° l i
Lg : . l Il 7 _ - ‘: - . N _ . b . l !
: - ”ROBLEM 48, Black to play. . - E "

s g Where does Black wint to play? : PROBLEM 50. Black to piay\
[" T o (There is more than one correct answer. ) : E , ' W}nte is a bad move, but how should Black respond?

,_13_,. | _' 19 - \



SECTION 9. ENDGAME AND OTHER MOVES™ | -
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PROBILEM 51. Bléck to play. . S ' "PROBLEM 53. Legal mo e5?
How should Elack play after Whie takes two vith 17 N

stones with 17 ‘ _ - Can Blde play I at the top and at the bottom'?

B s ]
B “ - b - i
- | o ;!
I"A -
B . _ - e evermane SRR DU O@%@O
!'d’ .," - .PROBLEM 52. Blac % to play s T .

o PROBLf M 54. Legal move\?
. " How about here? Can Black play at 1?7

I
i

l .
E R - How should Black play after White captures a stone w1th 17

-—20—:
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PROBLEM 35 emove ;rom the board?~

stones from the board after he plays ati?

|
1
e
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e
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PROBLEM.S(S Durne ponts,

. .
The game is over, but there are still dame pomts left. thre are they

(dame ~ neutral pomts’ which proﬁ, nelther Black nor Wh1te)

—22 - =

I
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|
]
1 e
|
In the positions at the top and botto:m can Black: removeithe Yvh:te

PROBLEM 57 Calc

ulate the terJrzrory!
No stones have been captured, Wh

o wins and b}y how many points?

o ) PROBLEM 58 T he last defenszve moves

BDlh Black and White have to make defensxv'p moves inside their

-

o own_territories before the last dame points can he played
these moves"

Where are

- 23



PROBLEM 59, Dead stores, . - T
There are five dead white. stones riside Black’s temtory
dead black qtones 1ns:de thte 5 temtory W}uch ones are the

PROBLEM 60. Blark to play
“Where is the fast pomrt of profit?

— 24 _ ,',:
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How to Capture Stones ....... .
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How to Give Atari
Ladders....... ..... ......
Snapback ana Related Moves . . . A
Connecting and Separating Stones
Living Groups and Dead, Grouns

" Section-1
“Kection 2.
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“Section 8, Ko .
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PROBLEM 61. Blark to play. {
Where should Black play 1o capture White? |

: ' ; S SO
- ; o PROBLEM 64 Black 1 plky)
- ? : o or ' Howshould Black Play to_capturk White?
. . j ‘ Lo .. o . . ] ) .. '! { °.
| e - NN
4 A . ( ) "“1_‘ . H“_‘-'_b i
. C \
o PROBLEM 62. Black to play. o ‘ I
‘y - Where should Black play to captire two white stones? : : ’

. PROBLEM 635, Elack to play|
’ .. Which white stones should Black

[35-]

rtake

A

- ‘ O
- i | "

) S R S B B B A s I R S
PROBLEM 63. Whitc to play. e . 5
" Which black stone should ‘?W]-lité.take? ol

' B3O ‘I
- _PROBLEM 66. Bluck 10 play, |
: Which white stone should Black takle?:

- |

296 -




PROBLEM 67. Black:-to piay.
Where-should Black eapture?

PROBLEM 68. Black.to play.
- Where should Black jfaptu;:e?

FAEE

PR OBLEM 69. Black to pfay

Where should Black uapture‘?
u - 28—

s v e T

1
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- - PROBLEW 70, White to play
Af'ter Black plays 1, whers should Wh;t'e capture?

SECTION 2. HOW TO SAVE ENDANGLKRED STONES

i
1
|
- g
: |
T
;

|
PROBLEM 71. Black to play, |
How should Black answer White 17 |

29— o
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- PROBLEM 72. Black to rlay
' How should Black ansier White 1?7

SECTION 3, HOW TO?.GIVE-'ATARI_

- .~ PROBLEM 73, Bla..k to ;olay
How should Black gwe atari to the ione white ston

’ i 1 ; | - |
PROBTEM 74, White to play.
What is the best way for Vvlnte to. gwe atan‘?

—30—;:'
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PROBLEM 75. Black to p"

o ay.
ow should Black give atan to, C\mture three white stones?

i

- !

&

_ PROBLEM 76. White to |
pla
_ How should White give atari to the two ")I;Iack sto

PR OBLEM
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PROBLEM 78, Blatk to play. S
{ow shouvld Black give atar to the twﬁ white stones?

O
h'
]

FPROBLEM 81, Black to plf
- How should Black give

_ atail to the two white stones?
. : B ‘
i IR

e ‘ ) |

: AR SR B !

| - - 0 I SO I AR - |
¢ 08000 ] |
ERRE - - - PROBLEM 82. Black to playt

How should Black give atari? i

o | PROBLEM 79. Black to play. Cob
RS How should Black give atari? C :

B - R - B !
- - o o= i
PROBLEM 80. Black to play. I -

_ J_DROBLEM 83. Block to play.
How should:Black pldy here? ) e - How should Biack play here? 1

32
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PROBLEM 4. Blackto pizy, Lo ‘

How should Black give atari to the lone white stone?. - -

- - - .

' -

|
S ~ PROBLEM 87, Black to play.‘J(

How should Black give atari to the eleven white stones?

_ i |
' i J |

PROBLEM 85. Blackfo play.~ ~  :. | 4 ]

o o How should B_lack' play to give double atari? |- ’ ; !

' : . : e ; ‘| - ¥ e - .
ii o .
v . i ) f.| .
' o . | I
e ( TED SE . o i |

- HFOOBO- . -

i \‘J o . % bl i )
. PROBLEM 86. Black ¢¢'play; i |

PROBLEM 88, Black to play. \

How should Black play to give-double atari? uld Black piay so as toset up a 1

. How sho zﬁdder?

|
!
i
3
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SECTION 5. SNAPBACK AND RELATED MOVES

L !‘ 1 ) g :i‘w
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PROBLE 89. Black o play A

How should Black pmy 50 as to capture two stones by threatemng
4 snapback? '

(snapback — a tactic in Wthh one stme is- offered asa sacnflcc and ..

_ PROBLEM 91 Black to '
iy play! -
Y{_}nte captures three Llack stones with | . How :Jp

PROBLEM 90, BIacr to play
. . How should Black play so as-to: capture two stones‘? 3
T _ T
L? P ~36 —

|
e

111t 1s taken, three or more stones can bP recantured) T - l

SRR S ANEI I :

_ i - | )

RS £ 4

INE , b
RN I

|

PR OBLEM 92. Black ro play. i

W}}&a captures two black stones with 1. How should Black reply?

_:i, B —37 -
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SECTION 6. CONNECTING AND SEPARATING STONES
L ‘- I
. o - - PROBLEM 95. Black to pl .
" C ow can Black ciit-off the four white st |
L @e ones above” i e s o e:;: at the bottom from
oo N ‘-r i
PROBLEM 93, Black to pzay |
- White has played at 1. How can Bl.l k connect his four stoms at tne
top to the ones below? : -
., v
- | e PROBLEM 96. Black 1o blalv. ?
: 1 = How can Black separate White into thd groups?
- _ ) i |
. o |
o a SR
Tiﬂ _f -\‘ $ a ?
: ) ’ l
- J |
T,I'ﬂt . : B o . o ‘ -
R L PROBLEM 94. Blick to play. o PROBLEM 97, Black o play,
| "l’.‘f ' How can-Black link up all his stones? S t Wmte (] posmon is defective. How should Black nake advantage of it?
i -38 -

— 39 .
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PROBLEM 98>Black Yo play,  °7. E' o

. . - " ) PROBLEM 10¥sBlack ¢ play
: o 5 Black to pIay and h\T

How should Black piay in this posmon"

- . - Tow S . i . . "

SECT‘ON 7 Liv ING GROUPS AND DEAD GROUI’S

v
.

PRGBLEM 99."Black.to play.
How does Black play to make a living group‘? _
. i - P

—I : - i . “:.

P

PROBLFM 102 Black to
. ‘Black to play and kill W

2 : | T
) I B
- PROBLEM 103, Black ‘o sz

‘ How does-Black play to kill the” wmre stones‘?

PROBLEM 100. Blackto play.
How does Black play to make a living group?.

_ 40— —41 |



"PROBLEM 104. Bfack to play. B U

Black to play and kill ali the white stones. : o e _ . @ ;

S PROBLEMJU? Black to play.,
L ~ How does Black five?l

FROBLEM 108. White to play.
How does White kill the black stones?

PROBLEM 105. Flack to play
Black to play.and live. = - !

; B
PROBLEM 109. Black to play.’
What move does Black make.to llive?.

PROBLEM 106. Black {b play.
-Black to play and live,

42 1 ' ~ 43 —
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SR (A 25l
- o : : L
PROBLEM 110. Black 0 play. . pe ali
-‘what moves does Black make to kill the whlte group at thdl top- N PROBLEM 113 Black to pld
and the white group at the bottom? = - : Lo i Wlute has played at 1. How does Black answer?
i ‘ o I . LT e . e :
: 1 Ca J‘
PROBLEM 111. Bleék to play. ) - :
How does Black make a hvmg gl;oup at the bottom’? ] IL
' | |
| - ; | |
* »
L
v B
- | l
o 5 N
PROBLEM 117, Aliveor dead? L - PROBLEN 114 Bloor o play.| |
Is Black ahve ordead?Ts anothr,r move- necessaxy" e ' - oo -~ How does Black play 1 this positidgn n}
| —45 -
E
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! 4 ' SECTION 9. HOW TQ PLAY n% THE OPENING ¢
E | _
f- AW
. @-—+§ “—@.
1 T \
i D
% ‘\8/{ o T
| ‘
. ; - h“-‘iv
[ i .
O |
A - " PROBLEM 117, Who has the bdvaninee?
PR EM 115, B!‘ ck 10, pla ‘L 1 , f ! e
White has pi?ﬁd at 1. How?aoes BIacJJ)c answer? . 3 After the sequence to White 8, who h ~s the better game?
B \ ik
T
1 id
[ o = 4N
DSk | S
B " g
16 OGO AR R D
'1"’?: . O -_ :
% i,
i ' ) i ‘ g PROBLEM 118. Black to p{ay
'w}é" PROBLEM 1 1 6. Blaz ‘[‘ fo play. i1 '-Iow (oes Black respond to Whiie 17 (There ar two correct answers.)
s White has taken a stone in ko. How dees Black IGSpO;le- ; ) v :
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"SECTION 10. ENIY

GAME

T -
i
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PROBILEM 119, Determining the score. |
The game is over. Both sides have taksn three prisoners and bath

have three dead stones left on _the board. D2termine the score,

.
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|
|
i
|
|
|
|
|

B

PROBLEM 120. Black

There are two profitable points left. Where are they?

w48

19 play.
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SECTION 1. MAKING LIFE 3 - ) ¢
) B - T
Q GO0 o ;
]\..) o b M - z
' Z 1 , .
- ' e e PROBLEM 124. White to play and live. (1 move)
— : _ Te What move does White make {o give| his stones life?
PROBLEM 121 -Black to play and hve {1 move) 5 X . R
What move does Black make ‘o give. his stones “fe) o |
- o7 ]
. e - |
. . | PROBLL‘M 125, Blac/\ m riay and ‘il"(;;'. (1 move)
L . What move does Black make to give s stones life?
\: . i . ) 1
‘ i 7 A S P - ;
| ‘ ot ] |
PROBLEM 122. Black to picy and live, (1 move) ‘
What move does Black make to give his stones life? | ;e
R ’.> e | ¢ L
i‘i‘; (,;‘ i \)'TOOO : - T kN
@%’ eee— @ g
s o o . S R
etk @) T &9 T ‘ i~ .
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TR ‘ :: . ‘ - PROBLEM 126, Black 10 pluy aned iwe ( 1 move)
~r L P f) OBLEM d{ 23. \E;hferﬁg?;a;feﬁi Sgn?ff;g y 4% " What move does Black make to give Lis stones life?
SRR What move does White

_s0— - R, h |
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: PROBLEM 130 : . g
— i . Wit M IS0, Black to play amil live, (1 mnove) .
@ - T 1at move U%i@ck muake to give his stones life?
— 1 o . — B ER ‘ ’
Y : 1 : E - . N N\ G ] )

PROBLEM 127. Black to play and live. (1 moze) e o : ) maw, £ C)CT, j
What move does Black mak to give his stones Iife? o - ‘ e ()r\ IRE : |

N O T W N M i ' ' :

- Lod- - . - . - T ' e i — :

1 ‘ ) - - PROBLEM 31, Bluck to play and five, (1 o

! 4 : y 7 What move does !.Huck\mukc{ioZ}x? ;:J: St(()ng:)l;;c)‘}

O+ T

PROBLEM 128. Black to flay and live. (1 move) '

What move does Black make to giye'his stones 1§fe? - f

| T L i C|> T J L
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t B - . 4 Wi, : ) .

L Oeesd . s |
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"'"“le’—'l'—"\“'Lfi 1’;‘ '1 li T "% - | .

d live. (I move) - - ' ' PROBLEM 132. Bluck to play and live. (I move)

PROBLEM 129. Black to »lay an ! _
What move does Black make to give his stones life? What move does Black make to give his stones life?

- | 53|
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o 4 * l 1 B . PROBLEM 1306. White to pluy andlive, {1 move) ‘
. | L L — | § o . What mqve does White make to giw|: his stones life?
PROBLEM 133. White to play and live. (1 move) ; - i
. White has to sacrifice three stpnes in order to make lifé, - T ' (. ;
; 1 L} !
\\ o i
K L : S ! § T E
| : ‘ Lo Wy PROBLEM 137. White to play and!live_ (1 move)
| _ | @\%QQ t . : ~ What move does White make to give his stones life?
.o ] YT T AN e : e G L]y :
P ' AN ’ . . | q
w7 - PROBLEM 134. White to.play and live.. (1 move) * . :
. What move does White meke to give s stones life? . o
| e
T T T i 1 ;
PROBLEM 135. White ie play and live. (1 move) - PROBLEM 138. White-to play and live. (I nove)
What move does White make to give his s.tones_ihfe?i What move does Whiie make to givelhis stones Yfe?
' ' | Ls S : _ .
I - 55 - |
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PROBEEM 139. Black to play and live. (1 move)

What move does Black maki to give his stones l_iv_fe?

|

Ee

PROBLEM 140. Black to play and.live. {1 move)
What move does Black maks to give his stones life? -

o,
©
i
I

. PROBLEM 141, Black to play and live. (1 o ve)
.. What move does Black make to givd his stones life?

g,

DEY
DO

|
|
t
|
i

) . 0 i
- PR_OBLEM 142 Black 1o play and i}fa»e. {1 move)
@ What move docs Black make to aive his stones life?

*
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\ - : : N PROBLEM 1435. Black to play and live. {1 move)
PR_OBLEM 3. B?“C"c m'_‘p lay fdgtld l'll{st. g;gzzeﬂib ~ LR R - - Black can give his stones life wﬁih ONne move,
The first move s all-important if Black 15 g « | - . ‘ o |
S |
~' : .y I :
| —— OO+
iy gt i /l
T . _ S
i ) - . |
i ) i
10 - RRARI
- L L g tive, (1'move) . PROBLEM 146, Black to play ang live. {1 move)
. 2 )i F JAVE, ’ -
PROBLEM 144, Black-to piay an .

fe Onz:move will settle the quesiion of lile andjdeath for the black group.
tones life? e .

what move-does Black mnake to _give his s !
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. - via if White, (1 movel}!

47, Black to play,and Kill W nove/!

PRQ%(E:’{P ldéeé Black play to Kill the white stones‘.’_ _

-

PROBLEM 148. Black to pl4
How does Black play m‘j

— 6

EusEENEEEENE]

stk e A g
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- \ ; gk f !
» and kill White. (1 -movcj)
kill the white stone_‘s;‘? L

-

~PROBLEM i49Y. Bluck to play and kill White,
What move does Black make to kill Whiie?

{1 move)

PROBLEM 150. Biuck to piay and Iill White. (1
kill th¢ white stones?

a

Hore)

vl

O -

I

How does White kill 11l the bmckjstones‘?

}i i

|

PROBLEM 151. White to pluy and kill .bl'laék. {1 move)
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PROBLEM-152. White to play and kill Black. (1 movig)
make to Kﬂl the black stones?

~ What move does White

pROBLEM 153. Black t

" What move does Black make

S ],

o play and kill White. {1 move)

tokill the white stones?

PROBLEM 154. Black to
How does Black ki

play and kill White. {1 move)
1 ali the white stones? :

R Y S

[ XS}

|
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L

PR O:})’_fiEM 155, Black to pluy and kill Wh
ow does Black play to kill the whit

tte, (1 move)
¢ stones?

PR - , ; ;

i RiOBLMM 156. Black to plav and kill White. (1 move)
ru-:vtv' : 119'_ enough just Lo cupiure three stones, ; ;
all*the white stones for the correct seluiion.

You have t¢ capiure
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It 15 not enough to
whole black grouo.

!

PROBLEM 157. White
take just two stoges. You have

|
m

PROBLEM 15

TN J

8. White to.play an

What move does White tifake 10

Sh " E i1
to piay and kill Black. (i movej .
to capture the

i :

d kill Black.-{ I move)
kill the black stones?

1 . 1 !:‘
PROBLEM 159 Black t6
: How does Black

Z 64—

play and kill
kill the white ‘stonesi?r |

I
}
|
)
I
|
i

l i

White: (1 nélove,’

s |
- 0T proBLEM R [
Lo o ¥, J(JU.‘ Black to play-and kill White. (1 1nove/
:‘;:' _ ow <does Blauck nlay to kill 1.'.1‘1(3 white stenes?
) g TN T
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A
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ROBLEM 161. Black to play and kill White, (1 move)
How does Black play to kil the white stones?
i
- ’ !
; 1 i
|
. i
- B
: _ T '. i
; - - .PROBLEM 162. B[cz_cfc to play and }’cill White. {1 move)
e How does Black kill the wglite stones?

65 —
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i PROBLEM 166, Bluct i play and| kill Whaye, (1 move) v
How does Bluck niay to kill the white stones? g,
PROBLEM 163 White to p’ay arid kill Black. (1 move)
How does White play :0 kilt: the black stones? :

VEROBLEM 167, Bluc f to play and

kitt White, (1 mov
How does Black play to kil tl] (1 move)

fe whlte stones?

 @©©0 

‘;_ - SECTiON 3. LifE AND DEATH
'PROBLEM 164. White to rzay and kill Black. (] mope) - |
‘How does White play: to kilk. the black stones? - v )
L]

.

PROBLEM 165. Black to play and kill White, {1 mowz}

 PROBLEM ]68. Black to play and Whh te to play. (1 move)
How does Black kill the white stones™ "

What happens in these positions if Black )lno‘ves first? White first?

- 67~ |
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oo SECTION 4. suu .

1 \ Lo E i i ,
v 7 ’ ?
- ! 3 : S
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| _

-1 o N

i o | g
g i “ kil &
| & : - : | i
O E ' ' : é
; “"‘L"O ‘. ' i L. o P ROB?{EM 171 Black iv play and get d seki. (] move) %‘s
ger ) SE e does Black vlay so that a seki 1ts?
and White to play. ;1 move) ‘ ow at a seki results? i
. PROBLEM 169. Blacl;qtlft)lgf;‘;yL Black moves. 11rst" White lnst" (seki-— an' impasse or stalemaie position butween groups: if one side 353
‘What happens in these- P : tnes to attack the other side’s group his own Lroup dies) 5

-
] ! A - - i %
| 4 7]
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,_..-li_ l B ) :
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(1 move)

PROBLEM 172, ilack 1o

sluy ahd get %z seki.

{1 move)

" y plet ) - dele mlo
. PROBL LM 170. Black tct) cz))rtl.::;. lcfmﬁlivc}ll:tfng‘v’gs %)mt’ White first? : How does Bluck play . that his ston;us live 1n seki?
. What happens 1 these posth : 09 -
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PROBLEM 173 n o and s (i - - T
O e Biack ffl)uz[ia:':fz’;iiezeifiii'Il;(tffv"”o”‘)') . - PROBLEM176. Blucs io piay and be .
ply seki results? B : _ Black’s stones will five only if fe play and get a ko, (2 moves) 3
B L I ﬁ_._|ﬁ...;| ' e - iy +f fie cun start i ko, How can Black do this?
X R T L |
] ' -
4, = ' * NP AS
PROBLEM 174. White to play and get a seki. {1 move) i P ‘ l T
SNy . A Lo B ROBLEM 177. Black . '
How should White play so that his stones live in seki? o Black needs to s ffo ";“Ii{*fep;f {oa{'ldeé{e{{a ko. (2 maoves)
‘ S ' o a ko if'he s to live, How does he do thus?
SECTION 5. KO o, . | a
. R . T 1. o ;
T
Sl o Phgleite! AN
B tghdit u il

I
3
1 -

PROBLEM 178. White 1o play and get a ko, (2 moves)

PROBLEM 175. Black tf:'jplay and geta ko. {1 mc}ve} .
After White 1, how can Black get 2 ko? . i
r : : : | How does White get a ko in this position?

_:‘L’,'o —




SECTION 6. CAPTURING RACES | e .
I
|
L
_ S P 2 La e , . T
PROBLEM 179. Black +0 play. {1 ‘move) | 7. PROBLEM 181 Wiite to pla
7 . . WY _ e e Lol y. {3 moves)
How does Black play so as to capture two white sto_nes?. J nE -,Hoqf does White play 50 5 {0 capture five black stones?
BRI i
1] 2] ’
| T . =
. \ | = 1
g - |
3 i
PROBLEM 180. Black $o play.. (1 move) - . PROBLEM 182. Wiite iv way. (3 moves)
llow does Black play so as to iapture. two white siones? o How-does White pluy so as to capiure seven black siones?




_ . e o - T o " SECTION 1. ATARL
v ENTRODUCT()RY PROBLEMS ™ : l o i s : :
: ‘_ - - i
Section 1. Afari ... ..... oveerits SRR L5 w i
Section 2. Captunng RACES o oo oo s mmmmeirssssm sy LT : i
Section 3. Nets . ...oo-ooenrrre SRR 78 ] - ( I
Section 4. SNAPLACK ... rTT T T P79 ' , i
Section 5. Ofotoshi . oo iee 80 e - - :
Section 6. Brilliant Moves and Bad MOVEs oo vve o g8l L i e
Section 7. Seki ... 82 . 3 B 1
Section §. Connecting and Separating SIONES. % .. vee e ... 83 .
Qection 9 Living Croups and Dead GIoups « oo ovr-ere s L. 85 -
gection 10.How to Play in the OPening.. «.cowevsrrro o Ce 88 - g - —
Section 11.Endgame .....- ...... ‘ 90 O -
. - . i H. : -
i ] : R . _
- “PROBLEM 183. Blac : :
' ‘ " Haw shoigcjijvlﬁflicl‘{k tlo qu!ay. PROBLEM 184, Black to pla
\ { o ‘ : ?“3 ‘ How should Black ‘.upturg?y‘
: ]
. : : 1| Rl
- _ — ‘ , oL
OG-+t
‘ E ‘S0 s=ns
| B @O -+
; DO :

'BYOISLEM _J 85, Black-to play.
‘ P;om which direction shoulu
Blatk play atari? '

PROBLEM 186, Black 1o pluy.
How shoutd Black play atari?
!
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PROBLEM 191. Black to piav. PROBLEM 192, Black to play.,
i : Two black stones are in atar, . /I\ group of two and a group of
@ J ~Which one should he save?. three - black stones are in atan.
T > Lk Lo Lol e .- Which group should Black save?
-| T o nopLEM 188, Black to play- - . |
- " PROBLEM 1885 - . SECTION 2. CAPTURING RACES
PROBLEM 1 87. B(Iiaclﬁ ;‘ff)er)fﬁ%{% | How shoutd Black respond 1:0 | !
White ‘1 s @ DIRIEEE T white 17 0 " L
should Black reply® D ' o 7 - a
B T DOOGSS
R S OTeP00Te
o ' ' ' B B ()% kﬁ)@% .
{ , *‘%n i ' 0 PROBLEM 193 Black i piuy PROBLEM 194, Bluck fo play.
o T TN ) 1 GCK pluy suoas should Bluck pluy so as
0 I W I e o it to play.. o How should Black pluy 5 Flow b}l(il.iid B ack .
ook e - }F llgz ok to plov. PROBLMM..-IQ({;' éjlfﬁf’;‘pjaﬁg_ to capture two white stoues? to cypture five while stones?
PROBLEM %‘?9' . ak Jay oot How shoulQ BREE L ‘ T (I} :re are two correct answers.)
How shoula Bl?(?te Stoncs"" . o '
against the cizht Wil L ' i ' b ST

_T6 - | _ A | :
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PROBLEM 193. Black 0 play. - PROBLEM ; . T - e
How,_does BlﬁncK play 80 as to ° How should Black play soas " PROBLEM 199, Black _ﬁ | e
capture two white stones? to capture four white stones? . How does Biack cL fto ?’W”“ PROBI|EM 200. Black
: - (There-are two corzect answers.) E; - white stones? ateh. two How ' does Bluck ¢k 0 play.
: S S ' ? ; white stones? cateh two
SECTION 2 NET ) i R . ' ' )
R 'ﬁ'S " % S SECTION . SNAPBAGK
. 4 B - S . “
. hd h - 3’;__’ . ; & Pty
P O @ it
per | PR 1
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PROBLEM 197, Black o play. SROBLEM 198, Black 10 pla. FROBLEM 201 Bluck 1o pluy FROBLE L
ROBLEW 14 Brack play 50 s i -Capture three white stones Jéiﬁﬁjjdiw Bfafk . Ston
: w three white stones

How does ‘Black play s0 a8
to catch oné white stone? :

to catch two white gtones? -- “usmg the snapback tactic. using the s
- _! i - 4 wgsnapback tactiie.
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‘ - 1 TR “PROBLEM 20 )
: L Cipure thrgeB’W”Eﬁ 50 i!gib PROBLEM 208, Bluck to play,
: @O%@ us:n,: Oiotoslu & LN‘;}‘”’““L‘ ‘three  wliie stones
;:-’ ) - : . : g ozoronlu ‘
| o I B = S,ECTIONG BRILI
| O@%Q. T ) | JANT MOVES ANJ) BAD MOVES
S T - Q—L@* —
PRORLEM 70.)’ Black Io play. PRO]S’LEM 204, Black to phzy _ ‘ ) ' .
Three white stones can be ~ How does Black-capture six g N
captured with a snapback. \V;hite stones with a snapbzick'?. = - AT

SECTION 5. OLOTOSHI 1\
(oiotoshi — a move which gives atasi to s group of stolles 1n|su<,h

" way that no matter how one defends, the group will still be'in atan)

1 11
. | _ L >
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s - PROBLEM 200, Whuii side hoy pmnredf’

| e - (L
. ack 3 s played to the right \
PROBTEM 205. Black to play. PROBLEM 206. Black to p!ay Black fias taken and filled a ko w: lh&l ‘g{dﬁskﬁc\tjf ile Wi
Capture three white -stones - Capture six winte ston¢s using _ Zup;ed an empty. corner and extended along the u);:n,ics d o h‘fl; o
10to<‘u . : Which side has gained the most in this btquunu,‘?l per side with 2 and

using oiotoshi, i
' I
— 80 = !
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PROBLEM 210. Good or bad?
Rlack has taken a stone with
~1s this a soo4d or a tad move?

Good-or bad?
with

PROBL '*"M 211,
Biack has taken a sione

1. i this a good or a bad move? '

SECTION 7. LK1

|

I |

PRORBLEM 212, Black to play.

. Make 4 seki between the four
Wbiack stones on the left and the
three white stones on the night,

PROBLEM 213. Black to p!ay
How can Black make a seKi?

— 82—
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“_i OBLEM 214. Black to plu 1:_
How can Black make a seki?

SECTION 8, CONNECTING &

1 S006®

B A1 [
PRGBLEM 216. Black t6 play.
‘How does Black link np his
two groups of stones?

?,

e o
O

PROBLEAM 2] 3 Bluck to plav.
How Caaj ..'.5Iuck make u seki?

NSk “-U“{APQ ING STONES

o
e

PROBLEM 217, Black to play,
How does Black link up his
fwo groups of §tones?
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I I\ ‘i NN . PROBLEM 222 Black T # i
¥ A . 570 ; S wEr s E . k to play. PROBLEM 223. Black io play .
: '‘PROBLEM 219. Black to play - ac ay. M 223, Black io play. :
| P§OBLf Mszégcil;i:ytzopiyﬁ  How should Black play? -','I‘lisli?(‘;’;’]eiges Black secure Life for How does Black secure life for
ow - doe : P - IR : g stones? 4
. separate White into two groups? : ' P E R us *m“h‘h g
A | | .,
1 ma : T = - |
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: . ' T _ e B . PROBLEM 224, Black to play PROBLYM 22
Lo ! e 221, Black to pley. R play. PROBLEM 225, Black o play.
\PROBLEM 220, Blaci 1o play. PROBLEM 221, 5 ! ' -How does Black secure lite for How dbes Black secure life for

How should Blagk cut off and

. - -k give afan to T
- How does Black giv . capture two white stones?

" the white stone?

his stoneg? hus stones?
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" PROBLEM 226, Black: to play. PROBLEM 227, Black toplay. ¥~ PROBLEM 230. Black 1o piu. PROBLEM 231. Black to play.

: . " How does ¢Black . kil the s ~g ..  How .does Black kill the How does Black kill the
. How does Black Kkill the 9 ' O F % it stones? hite stones?
T . 9 ... white stones? C S , s white stones”
white stones: N ) N . |
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RN
1 : | ;
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N BN H _-,L iy 3 L et
' “ S e T e play. PROBLEM 232. White to play PROBLEM 233, White to play
, : oM 229, White to play. . . Y : hohe paay.
PROBLEM 228. While to play.;- o F };IOBL&');{S?%%WS@C-W life for How does White secure life for Hbw does White secure life for
How does White secure life for . - now ‘ ; U his stones? his st ones?

Lo ctones? his stones? - i
his stones’. . : ‘
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SECTION 10, HOW TO PLAY iN THE OPENING : o 3
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PROBLEM 234. Biack to play. & iy _ PROBLEM 255 Black io play,
Where should Black make his next move? | T Where should Black rake his nexit move?
(There 1s more than one"correct answer.) l ' ~(There is more thun vne correct unswer.)
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SECTICN 11, ENDGAME X3 - . 3
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‘ i e - PART TWO :
_ PROBLEM 236. White (o play. PROBLEM 237. White to play. ‘g - - o ; b
Where should White play to - Where shouid White play to
_completely secure his territory? compietely secure his territory? X 1
o |
- i
|

PROB LEM 234 Which s bigger?
© Which is the bigzer point, A
or B? :

- PROBLEM 239, Which is bigger?
Which 15 the bigger points A ¢ ) }
or B? : i
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"PROBLEM 1/

Corr]ecr 4ﬁswer - “Wrong Answer
By playing at i. Black can

capture one white stone. cé.n escape by playmg: at 2

PROBLEN 2

1

' If Black plays at i herefi.Whit__e

T

Correct Answer
With |, Black can capiure.one

_gaves his stone by piayin
stone. ! ! _

- 92 =

: |
Wrong Answer .
If Black plays at i here, White

-

R P

e S SR TR

i PROBLEM 3
o | . ;
.' i
S - ‘.. - fmr ot o L B T ET Ty ey g
+: ] . : L -‘4'\’- S
lm.La Wfﬁ% i : e CE

: Correct Answer
White . captures the
st{bne with 1.

H«'%ro_ng Answer
if Blaclx:;plays at 1. White can
save his sto'pe'by playing ut 2,

corner

1
I
i

o ' - PROLL HM -

l . ﬁgﬂ‘? ----- - A—m 7 n
~T %}?O 7,\-*' SR P
L OGOS A R O@OG A
HameSs 2 - ' T

! P . o —

1 hd B ENEE NN odlRN. -
___~ . ‘ - s
B L

- Correct Answer
By playing at 1, Black cun
capture two white stones,

Weang Annwer
1 Black plays o move like L,
white cun suve his stones by
exfending to 2,
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o
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i
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L LB BOOR T b & L Correct Answer

B favi i Bl I Whire Plays First
, E  Wrong Arswer ~g- i Dy playing-at 1, Black cun I ity White’s turn, it 1s White
B placscf):;;?taf nlswilack can I Black plays atl, White saves.  ¢° . ,c_apture two .wmte stones. who will capture two stones.
cant‘{lrc two white st:mes_, - his two stones by y'alaymg at zf« .

o

o
| :

. - |

- S 7 PROBLEM 8
PROBLEM 65 - o

- S 8C

S
i
1

o

GOg

S S L

\/ i ] . i S—

s | f
T e \ "
| @ : it L IR

.. Correct Answer The Resulting Siupe
- By playing at 1, Black capturex This Iy what the posiiion will
.two white stones at the same time. louk !ikc‘i after the vapiure,

YSgoe———  —---roe0a
Correct An&wer ' If White Plays First R
By pl\:;;i’ng 4t i, Black can . Ifit’s White’s tuwrn to p};i}{l,.:hgz
\ two white stc owilt sténeg with-17
capture two white stones. wﬂ:} capture t\yo <;

e
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* Correct Answer
- Black can capture three stones
by playing at L

. PROBLEM 9

PROBLEM 19 . L

If White Plays Fost

1f it’s White's tummn, hé can save
“ his three stones by playing at: 1.

l.

T

- O
5

o
i iir-‘:\_l_

/

Correci Answer.
Black can capture three stones

by playing at'1.

1-
. If White Plays First
If it’s White's turn, e can £

. his three stones by playmg at 1.

i
]
i
I
b
]

ave

PROGLEM 1T .
-
L 1 T
el i RN B
itk * " - - ;
i S
.
|
-1
R i
L -
., L i
- @@8@ a
;- e
-l Q | : T l?
CTY8Ge T T
- " Cor, rect Answer Wrm?(* SEHSWOF

by playing at 1.

Black can capture thJ'L‘C‘glunL: 1 Black plays

oi pturdis. black

Loatas Whitte wio
stoney with 2

a PROBLEM 12

l

i ) T T

; % -
o . |

T+ LT 1

5 S

f@} @ 7. |
T L

OBOTO+- T

. . S

g
: SO :

o - Correct.finswer
o Black can capture one stone
. oy plaving at 1,

Wrang Answer
It Blabk plays 1, White plays 2
aind Whiic cannuol be caplured,

oW : |

— |
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o PROBLEM 15 | =
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l : v 2 r | -
H i i : T
1 Corr!ecrAn"wer Wrong A l—T— : . : Correct Answer 55 UL
_ - SWer. _ Wrong Answer - ' . hi B
Black can capture five stone “1f ‘Black 1g n v“: .. : 3 -~Black "can save his stonc, by it Bl iw?n& s o
- Black can ¢ap tones ; ack plays 1, White: plays & - connecting at I. | e e by e
by playing at 1. 4+ and his stones aré saved. S . . whyte stone by plavingut L White
- aved . " - | caplures i black stune wit L
| | ‘ - ¢ RERS ’llh -
- PROBLEM 14 R ' |
ROBLEN 14 2 O PROBLEM 16 !
Y lk) .
] 1 J
LR k) @ o
IEEN ’ B )
ey - : " v - ‘
2 | |
- | | D U R O R SO I .. A
au g O i
L] : P l 1 R )

— -

; ~Correct Answer Y ‘

iack ‘ A ‘ i Wrong A HIWer

play;ng atc:;n save hls-.lstoxu by i Black threatens to cupture o

lay 1A E wihite stone by pluying dl 1, Wihine
captures ablack stone with 2.

- Wrong Answer
I Black plays 1,itis White who
saptures black stones with 2. -

Correct. Answer .
Black can capture five-stones

by playing at 1.:

_ 98




“PROBLEM 17

!

Correct Answer
Black can save his two stones
by connectingatl. -

PROBLEM 138

: (>
. Correct Answer
‘Black can save his stone by

) playing at 1.

g i e ._.].J'.‘....' Frmm e
E ol E :
o

—100—

il

e

i . .‘ I : i !-T

Wrong Answer |
" If Black plays at 1, White will

capture two black stenes with 2./ ]

_“'m
T M_Dii
BN
|
|
]

5

2 -

Wrong Answer ;-

Black 1 1s unrea-s_onz}l?le siece

“White ~will ~capture the black
_stone with 2. o r

. PROBi.EM 1Y
:“ - ‘ :
N T "
i:

_ . .Correct Answer
Black _can save his threc stones
bvplaying at 1.

Wrong Answer
Black | 1§ unreasonable since

~Lorrect Answer
. Black can save his two stones
- bywplaying at !,

R

White “will caprure the three
. black stoes with 2.
| i
. O PROBL a0
; : ‘ -
SN o o o o e S L e B
B - - - E e o
- B 1
= < T T
o !
o — i - S -
I W B : ;.
el Y @ | ‘
M1 -
- Dll: 4 é;% '* @ ' l._"___ .

Wrong Answer
BBlackiplays at 1, White will

capture the black stones wath 2.
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' PROBLEM 21 | S pi ot s os |
e e : HEURVAS 1% e T
-3 s s
| AR |
| BIE g
- ) | N :
L i ]
T - N ;
i .
: I i It -
| L . I | 1 K
| L o L | = BN
ll' ; %1 li ‘ b V«A ni _E V ‘_'—_‘ e
: EEERRIEREE , 1 - - Y .
\ RN o %’53*’5"&\
__ Correct Answer. SO “Wrong-Answer: - = foa . Correct Answer ' _ :
Black carn save his threc stones. Black 1is umeasona]ble since If Black gives atari with §, there Wrong Au.s wer
by playingat 1. =~ . White will ~ capture the turee s no:way . for White to escape. i er)ln ;?Jafzi gives atari from the
Co 5 b]ack stones w1th” Yoo :-_ - _ . rong. side with I here, White
g 5 o ' S will capture three stones with gt{,

-4
|

PROBLEM 24

PROBLEM 22

i
i
|
i

! T T
L1 |] | I L] i i
EaEE R
E RN R
R ! i
1 N s ! K
g -
Ly
SN \__:' N
o€ - i B
T APNERr 1
HERENY TS e bl e
[ I 3 3 : |F_ 4 . J;
. I OOI ; -__| - T e g R R
; . . ‘
f'orrectAnswet Wrong Answer y Correct Answer Y. .
White can’i save hi§ stones. If If Black attacks in the WIOnE " o IfBlack gives atari with 1, the T i ?‘:‘L’ Ansier
. “lone whi ey , suck gives wlags n e wrong
_ white stone cannot vsoupe. direciion, White C(;lJJlL‘i.‘lLL'S“ilm‘%

he persists with the sequence to divection, White will escape.

‘13, he will be captured with 14,

wnd cainot be cuptised
P '




PROBLEM 25-. {
' 17 T

: T . ! ]

YO < T L SO

- OO +1+

' QOG@ T

AT T T T
' j | ! I ‘-. l .
5 Correct Answer ‘Wrong Answer

Black captures three stones by
giving atarr with 1.

If Black gives atari with | here :

‘White plays 2 aid mmnot

" captured,

G5

__ ' PROBLEM 26°
l ! -
HEE T -y |
17 N

i

Correct Answer
Black can capture four white
stones by giving atar with 1.

— 14—

Ll

Wrong Answer

Black 1 1§ the wrong: dlrecuon.
-~ White-escapes by extending to 2.

TR

i
- ) i
PROVLEM 27
ol
;
i
| ‘ S
- ™~ X
10 |
3 - b ) @ i -
GOL0 - -
e '\
: QT
] 4 i
' L
"l | [
| R
P - Correct Answer Wrong Answer
- !3Iuck cz}ptures three stones by i Bluck gives aiarl with t hore
~Tgiving atari W1th 1. White plays. 2 und cunnot be
- : : cupiured,
PROGLEM 28 |

YT

g | -
)__ — : e
- i
b
| |- e
Corréct Answer CWrong duswer

. If Black gives atari with i, the Black] 1 is the wiong direction,
" lone white stone cannot escape. White Will cepiure five bluck
r stones with 2

S -



. PROBLEM 29 PROBLEM 31,

1
'
o i e S R 2
»

A R
. - ! : wypde | B
DHOE e, o N ‘.
fi)@} @O IR i | — ;
o8 —+O®: . IR -
L NS
S - - 17 - T\
§ i - e i)
NE . SE . T 1 i
Correct Answer - ‘Wrong Answer! T Correct Answer | e
“Black 1 is double atari. One of If Black plays atariwith 1 here, - & 0; Black connects his stones wis - If bl vt Adnswer
the two threatened white stones | White connects at 2 ancl c,dnnot R R 1. White is also separatcd into two. scumﬂtiﬁziﬁlﬁiul)tljfv‘fh e
‘ will be captured. ., be captured S . - :{; lmtportant point to consider nects up his own siones Lil\m:,‘":;:
. : _ _ S | o N : | ZL V-.;. 1en fighting, ing 2, ulau\ 15 uf s disadvannive,
PROBLEM 30 .~ S S | .
. E ) - ) \- R . PROS LEM 32
L : i | _ M,.E' G ] ! Lo
it . : . _ T ? i ) N
- L- ‘ 1 - 1 . ol | [ T -l
T " N e S ' H .:OC“ b | N
| e ’ - : - |
HEE H@W 1 - |1 EamE ¥
L \ | Wrong A Correct Answer ‘- W
Correct Answer. ER rong HSWC’i' Cheer A : o . FOHE Answer
Black 1 here is also double . IE: Black plays atarl with- 1 S BSt"_-Play}ng at I,Black.hnk:. up A Whiee 1s allowed o cut ue 2
atari. One of the two threatened White connects af 2 and c,mnot “his stones into one strong group. Black’s btone can be captured i
white stones will be captured. be f'aptured R L - o White’s stones ure wll cuini i,




PRrOJBULEM 35

-

n - : !
‘ -Wrong Answer
11 Black connects of

- only move, ‘
- . L tukes i stome ui O ound
SLONLS are sepuriivd.

T
Pigys First -+

. Correct Answer
Taking the ko with | i thiu

SR ‘ IfWhire

Correct Answer
11 it is White’s turn to play, he

i When Black plays 1 White 15
ynable to link up his'stones, Play- - caw link up his stones by playing = . ¥
g to the left of right of 1 also underneath at 1. N o -
accomplishes the same purpose. : : _ R
PRODLEM 34 .
. ) éi -

e o
%

Y
LY - g

Anlilegui Mo

U I TR
Pludh Cuiliigl 1viady

Wrong Answer . Correct Answer
ack lets: White plav at 2 4T In this case, Black slionid
' Lot conmect at 1 without wupiw

Pl 1s apdist U calod

Correct Answer '
: (I Bl

By playing at 1, Black links up . e
nis uppef und lower stones tg.  he will not be able to link uy and
T will end up with w0 weak groups.. . I ng a stone. |

it

make one group.

~108 -7




PROBLEM 37

Correct Answer . " “Wrong Answer i
Taking the ko with 1 1s the .. If Black extends-to White
- connects at 2 and tie two black

right move.
stones cannot escape..

PROBLEM 38

!

T TTT T
- l\ 1 e 1‘1 D| : j—-—

. | ; __!!__.. :
- __..,.i—-—

B |
' Correct Answer

Black should connect -at 1 so
" that White cannot starta ko fight.

~ 110~

Wrong Answer 5
"4 ko. Black is at a disadvantage.
. 1
|
|

1
?
I

If"Black plays at 1, White starts -

PROLLEM 39 °

8

) Correct Answer

. If Black gives ataris with *t to
5 :White ‘cannot escape. This kind
01 situation.is called a ladder.

HE

T
1o —f-—
-

= Correct Answer

If White takes ten stones with
i,-there is no longer a double
atari on the white stones.

| .

PROGBLER <t
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s T

i U N A

i \ ;

1 ! .

i H

i ‘ -

; : ¥

S |

i ; o i

!

[

; 1

i i
i

Wrong Answer
_‘it‘ Black grves atur witl 10
Wiile 18 able to escupe by unr
g to 2.

A

Wrong Answer
IV White runs away with 1o
guve fis Uwo stoney, i oo
pures owilds 2 omnd e

stoney e po lenger . Lol



" PROBLEM 41 ) -
. - R o . PROUDLEM 'L.j’

—

B S

___JF___,#__

L | L ~

[ ' | ! R J : =

A T e SN N

- Correct Answer L - If White Plays First: 77 gy L T T
Black can make lfe. for his. If it is Whife's tvrn, White I :

group by playing at 1. will kil the black group. -

: CorréctAnswa; " oo i,
o § . Black on make Ui for s I White ser 5

& -+ group by playing at 1. e bk Stoncs v
. : . ] Ay . 2 TP

PROBLEM 42

NIy )( )ff:if ' 8
\) e [
@% :
~ “4It - v
it PR
. - - ‘ "‘—i . I . __._;__ __i
Correct Answer T Wrong A

wAf thte Plays First :
. W‘hlte can give his stones ife
‘with 1if it 1s kis torn o play.

Black 1 kills the white stones, Wiite ¢t give ' b
ALLE PR Ll
with 2 00 Bluvio oL Lot
ove.

Correct Answer .
Rlack 1 kills the white stones:
Eventually, Black will be able tJ-
take these. stones off the board
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PROBLEW 45 - |
P g | 5
R N - .
S i
: Bedees s XA
0 1S I R RO A T Banet e S -
~ .. FCA
' g —rD-B
R |
T— e Correct Answer Correct dne.,
1 You .can gain the most adyiyn- Al y of the 1"%}- s o
: T tage by playmg in an empty cor- s Uhis dlugeum 28 wlse o E
Correct Answer If Black. Plays First N 8- ner. Any of the moves from . 1o : '
White can make life in both Black- 1 will kill botly white y Dis the correct answer.
positions by playing at 1. gioups. _ . - . |
h ' E .- : ) PE{OL; IR i
PROBLEM 46 o l S
' T B Y NN S Y ) DO T
1. TN ' A s
i—- - *_. “T ;-@‘2? }i L
' : ; O T
;'Q: SEnE H G-t~ S I N
: ] —1 BN o - FD B~ e e sy B
‘ o s - . ] - - +
i - - - e
e e . Correct Answer Woong Answ.
w | - -Black should play in the empty I Bluck olavs at 1) v
¥

Correct Answer . . For Referenice | "
White is dead. ' <If it*were this posmon,g Whité
-would be alive. i :

cornér at one of the eight points take the chupty cuine.
frofif A to H. ‘Any one of these and  Blagk  will be
: wowd be the correct answer., disadvantuge .

¥

-

_.—1144.3 -~ 115

i

e




v.,;.,mw..u—..m.. o o ek w1 e A 4T T

PROBLEM49 S
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Vorrecr Answer . .
Either White 1 or Wh1te A ds
the best move.

WrongAnswer !
if Wh1te plays at' 1 or
.other comer, Black’ 2 puts
.at'a disadvantage. a

PROBLEM 50,

in an-
Wh:tc

T

)
T

-
BC
OB
E.‘

%

L__ _ i !
Correct Answer

‘Black - or-any of the moves

from A to C would be the correct -

answer,

. Wrong Answer‘

“White. 2 would vut Bla
disadvantage. -,

- 11'65_

-~ 1f Black plays 1 orin any glace
- othér than the upper right coruer,:
ek at a

‘ Ga?ture. four stones, suvi s full s

. PROSLEM 51

N
o 1
(et i
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@ ‘, R
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i - S "!
] 1
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o S
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T [
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O e p—t
. ; el i ;
. N F e
ks _;u Rt i B v g | _
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“Corréct Answer
Biack should immediately re-
’gaKe one white stone with 1.

Weong A

Neglecimg o t;-@

s{O0e e connvoaa oL
Iowill puy Black o

1 ’ )
e PROM N 52

Correct Answer  Wrong e .
Black - should - pl and o plach pve
play at ! and i Blacio plave
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BlagK. L 15 un illegal move. 1f
the pdint* A were occupigd by
either Black or White, then Black

c An Hlegal Move

I, would-be possible.

PROBLEM 54

sBlack 4

If Bl

Black * 1

An Jllegal Move

stones.: -

Y [

| Bl
s T
: +
____J!;T',, , }
1 -

OGO

L OO+

(Rosooe-—1
An Hlegal Move . o

Riazck 17 here is also an 1lluiga1

mov~. However,if Black occupied

the ‘point’ A, then Bia’ck- copld
play at 1 and capture six stoncs.

Ll 1

i

‘
x
[
!

i

cannot be played.
ek occupied the point A,
would capture four

For Reference - |
In_this position, Black 1183
legel move.- ;

— 118 ~

ore 2t e i3 e W Sk 4t

‘.
S AAART N s

EFERI

e B R E

A
£

LS
i 1

£

- Correct Answer
They white stones cannot be
.. taken:'If A were occupied by~
 eithet Black or White, then Black
- I would capture White’s stones.

Lo

Lorrect Answer
'I‘he.re are - two dame points:
~+Black i and White 2.

PROBLEM 56

y -
|
L )
[y S—
i
Ti A S
A
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I
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i

R
o R R S el
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o
Corrrer Answer

The white! stone  cuig be
teen. As pulore, i5 A v
cupied, Black | wouls
the wliite stoni.

i
[

e -

Corree, Answer

Howould Le dae same
el bat the ooliom o
Toat Loe oD, i

o etlect oo st

- i
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PRUOBLEM 57 ! Y .
! ) : —
o -
. 3 s N
:Q/F:,%‘{h ‘E, | !_
w‘}\ = - i
(. )( - I
--_Jr;. | -;‘_ N
’1 T
| ' et :' i
~T OSBGOTOG T ‘j .‘ —
'"'""L 1*5‘1:”3@@( {/‘)0"”# a _ < 1 - Jj
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s ; \ Correcr Answw i Fi \ | et s
. Cou%‘c;: 'l.f,“ :1:1’011111- to Vihite's territory comes ta 36 - 0 the Vfoﬁi—e“;i 55:);1@9 that were mn Diere are coblack oo
Blacks mmoui L(,n tnL- ;*ight post:tst 29 pomts on the lelt and IUTIOF“;GLI o agram Jluive been . ._1.‘_1;‘,.‘5_ _“L T
2 pomtq ey fdl 7 prints i1 the middle, Therefore, L. - diawram Compare these itwo e busid witie
and 5 points in the middie. Black wins by 2 pounts. N agrams., i pots Lo A 10
PROBLEM 53 L o PROBLEN 60
i
]
) ]

. A . j ¥ ¢ l 4 “ \. ‘ -
- i W we 1 : B 1&01{. 1 IS tlle ::: pO n Of I".;,"I, 1V’ tj\“}:‘i ‘JU‘L)!IV
| ﬂOI] ’ w the lB.St T.WO G'].Int . J 1 1 ‘t I JV VL|_ - . ‘“ .

pow&ts Black 1 and White 2 /.., can .
be played :

—120 =

I ‘:‘1 Vit s o Loy o
defensive moves. Wi 2tk e s




PROBLEM 6

- Correct Answer If White Plays First |

By plaving at [,

Black can

capture one white stone,

Tt it were White’s ‘turn,| he
wo.zld take two blaok stdnes
with 1 : T

PROBLEM 63

] -

i

il r: I

_— Correct Answer
Taking-one black stone with |
1s t‘h" correct answer..

. ;W)ongAnswer
Taku;g mth I here is wrong
Black &n capture eight white -

PROBLEMGE

O

8%«?

&f\@
. a
o

' O

Correct Answer -
By playmng at 1, Black can
take two white stones, '

—122 -

. -Wrong Answer:. ..

If Black plays at .1, White
tUILS with 2 and Black can
lonf'pr taxe the two whfte sto

Iy R o s

paps
no: -
nes. -

PROBLEM 64 ';

the left of |

stones by playing immediately to

T

no longer be

- 123~

|
i
G

g 0
- L 2‘
By /ICorrect Answer ‘ Wro .}?lnswer
. V.. Playing at 1, Black can - plays: i
tak@ four white stones. e 1k aB{S o st te
plays 1. and the four stones can

C ptpred

i
i




E
Correct An§ er _
" If Black takes twé"@.rhlte stones
with 1, the two wh,;(,‘te stones m
the corner cannot eszcape T

' PROBLEM 65

PROBLEM 66

PROBLEM 67

If Black takes one stq
v}, White plays 2 and 8
of hlS stones.

WrongAmwer e

CO"FEct Answer.

- Taking one stone
W)
E orrecf answer _ Ith lq‘g the

ne with
ves fwo

PROBLEM 68

~ If Bla
“here, he
White re

Wrong Answer.,

cki:takes a stone ‘with']
mll lose nine stones wher.
ta}ges to the right of 1,

@o

& 1.@@0

Correct Answer .
Taking one stone on.the. right
with Black 1 is the correct answer.

12—

I’f Black takes the sio

- 1eft, he will lose seven st
Whlte retakes to thu left

13
@ ; .

Wrong Answeﬂ L

- Correct Answer
_akmg one- stone on the left

L, )

1 Black 1 is the correct answer,

ne on tne
Ees when
of 1:

If Blac
right, he

— 125 —

Wro

when Whit

ng Answer
takes the stone on the
Il lose two stones




PROBLEM 6D .

taking s1x white stones,- .
: T stones ‘with 2 and:the:six-whit

stones can-nio. longer be: captured

PROBLEM '}‘0

Correct Answer WrongAnswer R
The correct answer 15 Black 1, lf Black takes one stone |with.. &
‘ 1, White " captures : ¥wo. Tack. S}fg{] ‘i’gl‘ Answer

play at"1
i:fve stones that are in at:;whg '

PROBLEM 72

White will

If Black Ia § any other i'nbvé, |
stones w1th

Answer.

capture five black

S Wrong Answer b
If Wh1te takes one stone with
1'as here, Black will capture seve
white stones by playing bulow 1
orn the next move, B

Correct Answer _
Taking four black stones W1th
{ is the correct answer..

~126 -
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L

- -Correct Answer

'.Blaok should
play at 1, con-
ecting:his four stones in atari to

— 127 —

W)‘orlg Answer

If Black captures two stones

with
wth é White cpptures fourstones




PROBLEM 73 -

captured.

If Black g gives atary with 1, the
white. stone will wentually he

i' REnE
: _ |
[ f Nk
i. - HERE ‘
SO0 R OC G
0P T Q% o
Correct Answer “Wrong Answer

‘th& ones that will ‘oe cantured.

PROBLEM 74

meg atari with 1 ffom below : .
is -4 bad move. White extends to-:.
2 and now the black stoneb are:

@

- l@i\ ]

Correct Answer

there 15 o way" for Black
his three stones

If. - White gives: atari w1th 1

to save’

— 128 =

Correct Answer

. “If Black plays-at 1, there ig
no " way that the three white

SI,,‘)IIES can escape

PROBLEM 76 *

Ly ‘\ ’
PRORLEM 75
O
j wr ongAn.s'wer
If Black | plays at 1 as here

White gives atari to Black with 2.
and he cannot be captured.
AERASD "

: 'Cfoi_'re'c‘_z“-A nswer

[
i

K

L

l*’:"o gAnswer

rFwes atari with 1,
1

after Blaclf1 ays at 2 he cannot

be captureT 1
1
~ 129 — |
i
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Correct Answer- -

Elack should play- at-1. The
lone white stone l,annqt escgpe

Wrong Answer ‘

'. deac‘.

| PROBLLM 78

. Giving atari with 1-as _he_r_(i_:i.is "
bad, White plays 2:and!the iwo .
“plack stones at the top right:are B

C'orrect Answer

e - After Black gives atari with I,
..the . -lone . white stone at- the
;_bottom is dead

ST “PROBLEM 80

J WrongAnswer _ -
- Black |1 allows White to’save
his stohe by connecting at 2,

H

l‘--'..a .

.,_r‘

. @
I 8%08.

GBD

0 fona:

‘Correct Answer

- Wrong Answqr
~Giving atari with Black 1
© White to-save twn of hi
by connectmga z,. ‘

i
|
l
|
|

Correct Answer
- Rlack 1 .is ‘the ‘correct move.
Black will.be’ -able .t_o.,capt_ure

nree whxte stones. . o ‘
— 133'0 —

- Black . should link up to his
other stones by playmg at 1,
This way the Ione white stone is
ead,.” ‘

S sticn_es

OBOG
rong Answer.

If Bla cki captures with 1, White
plays at 2 and the four black
stones atjthe bottom will be
captured. i

—131 —



' PROBLEMS81 = - = -  PROBLEM 83

#

T T SEmE

. AN E
Correct Answer o Wrong Answer | L0
If Black plays at 1, the two lemg atart with 1froml|above =
white stones cannot escape.. -~ . -adqws_._“ﬂnte to-escape with 2
' - and carch three black stones.

N Wrong Answer ‘
=i B]ack ‘should gwe atari at 1, If Bic ckgives atari with 1,
“This move guarantees the capture Whité connects at 2.. There is
~oi three white stones now no |way that the six black

L : : stones‘. in{the center can live.

‘ _ PROBLEM82 i R . : :
.3@~r .. L S ol sy ... PROBLEMS84 |-

& TSI | F s I |
D08- TRO@ ) 1 O80T |
S8OGO11 TR0 ETTTTQS
| Q%@ O@@ ] . : ko e
= : NS . i } I‘
.‘ - =1 1 i
L |

Correct Answer -~ . - Wrong Answer S “Correct Answer - w‘v ong Answer
‘Black 1 catches a white stone- -~ If BlaCk gives atari gt 1, Wlute _ S -~Black 1 here catches one white If Blacq«: ives atari with 1 as
4nd ks up His upper and Iower pl.tys 2 an d his stone cannbt be i T stane IR : here, White runs away with 2 and

stones. . , captured. catches tu)o black stones,

N DRI T ~133-



: PROBLEM 5

< doubi alan. No
‘ e Whine rosponds, two
of . conas will be captured,

PROBLEM 86

Lt

- PROBLEM 37

3

1
b

I
i
-
15

' !

i

i

: \

|

.

Wrong Answer

Biack [ 15 bad. -Whiie 2 cap-
ture= this stone and Black ¢
ionger play double atari, .

Correct Answer _

Black i is double atan. Black

will cueyee cither the two-stone
O ThT L LS groun,

e

3
T
-
i

1[ Ay i
OB ¢
Foeser

‘I‘\,:f. ‘ S
N R I \ b
WrongAns er
. If BIack unme‘dmteiy tries to
-captme with 1, thelwhﬂe stone

on the Jeft wil] b{eak the ladder
_when White gives atati with 6. ..

Ts-
a

s o S ()

Blick 1} is -atari; but 1t 1343.5-_
nowliere. White secures. all ‘his
stones by connecting at 2., \




PROBLEM 89

“ PROBLEM 91 - .

"
im et e o S e i i, R St
i

s Wrong Answer z A SN SRR Y

LSV rong/

. AL ihere 18 DO way \f Wlack plays i, White saves N Blacfﬁc shquld r?take wzth 1o, If Black Dlt,ch

i b i o save His two stones. his wo stenes by connecting. o TROW il the white.: stones z_lre - nests with~2

Y : ' at 2. ; o are ahve
: - .
PROBLEM 90 = : PROBLEM 92 1

BOGOO
ST
QBRSO

Wro’hg‘ nswer

oo Answer WrongAnswer . .-
cpe wi 10 guaranfees Giving atarl with 1 here 1dts I.x Black ' o nnects with 1.
Dpawo whiie stones. White-save his two stones.by con- stons White will sav hlJ.S i
o necting at 2. LoE ' by connecting at\?.
. - !

— 137 —
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PROBLEM 93

s e SRR

o I - PROBLEM 95, . .-
| e ;
i T !
N ;
- - ‘ )
| L —
N
. | o
: . 1 F o .
4 ; o
LSl s Wrong Answer - EEE IO @
SU ey g the blagk t stack plays another move, i . - Correct Answer . -
ST like 1+, White will play at-2 and ; bl ('k I cuts off the four white If It Is Wlutes turn, he will:
Lol | - ek Stones Abote are o stones from the ones above and. connect all hi§ stones together
j“““(_‘“"f black st . @ rhey will now dle. ‘ . with1, | Lo
Lol . . e - H R R
. : . ; . LEM
CLOBLEM G _ o - : ROB 76

I :............‘... E !‘

! i . v :
™ I = :
- ! 1 e

i T
" N cprfd
T BEEE
e Lo :
s N
| -2 : ; ] {J
'; ) L—.—.\.i.w N ’:
I ) T
Lecn Ahswer - Wrong Answer . " It Wh:te Plays First
Blio w dnkoup all e stones rB].u< 1 here does not worker e Black 1 separates‘_Whltc into If it 45 'Wh tés turn, he can
by Plivi a1 _ - When White plays 2 the. thref I S two fgroups:. a fourstone group link up al of is stones by playing
N . ) stones it the bottom are cut 0 ! i ol th.e left - and a. four—stone_ at 1 i
: 1 . . and wijtdie..' -0 A group on the nght :

~138 - . : o
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| -PROBLEM97.Tli: S SEERI

— R - PROBLEM 99 "+l

T T

T a5 aur

_. . i - i
: 'i
—egle - A . TR0
L0811 088 — O L RS |
~Correct Answer -, If White Plays First - o1& _”i
N

It Black - gives atari with 1,..  If-it were: White’s fur.’ he
would play-at either I'or’A. 1 hi ‘ FV;O;?g Answer
. ‘_ hoaistehing ite, epaysatl, is stones ‘Vhﬁt;Blacki Ia:lys any other place
e e will play at 2 and the black
: stones will ]&lie!, the black

||

White can’t escape. White 2 does i
not help; Black 3 drives him ‘to- . S
the corner and eventual capture, : ¥ o r

. PROBLEM%"_- N PROBLEM 100
0 Y 5 A |
L L LT R

_If Whize Plays First
CI1fvit were White’s turn, ihe'
wouil give double atari with 1. -
and "the point A!1s no longer a-
problem R

Correct Answer
Black should go after the three:

white stones by giving atari with:
I,

Ha IfB; Correct Answer 7 WroJ:
- ajiv eack plays at 1, his stones If Black ph§§ ﬁ:ﬁfz White 2
. . o) - h i ‘, 11 e
| e R puts five stones in atari and all
the black stongs idie. ¢ o

- 141 — \




PROBLEM 101 . -~ - : ‘

o gre alive.

Y

e IR .
e if
- U [N VSN : :
| .A/\Q
(mmn A

o Wrong 4 S
If Bleck plays 1-here, White 2|
kills all the black stones. -

“orrect Answer
If Black plays at 1, his'stones

&

PROBLEM 102

= Wrong Answer  *
If Black plays at 1 first, White’
stones are absolutely alive::afte
White 2. S \

\-’

Correct Answer
Black 1.1s the correct answer..
White plays 2, Biack 3 kills all.©
+ white stones. R

142

o © stonas,

.;..:'C‘O?}'éb:;ﬂ_'ﬁSWef"' —_—
5 ack S kills ‘all ‘of ‘the white
-stones, e i '

Wrong Answer
If Black plays 1 here, this will
ks -allow . White: fo play 2 and his
‘ stones are alivé;.

... 0 . PROBLEM104

e 1
o |-

Wrong Answer
Black 1} tsiWhite play 2 and
hig stones are now alive,

‘ e C&rrectﬂhswer '-
, Black 1:kills all of the white

1

_ 143 -




PROBLEM 105~

= o 'PROBLEM 107

T
& wl | i
il .
_Correct Answer _ . WrongAnswer. s | — : - -
Black 1-is the correct answer. If Black ‘plays 1, defending his . ‘ . ' ‘;If /Wjite Plays First.
If White takes two stones, Black = two endangered stones,; : White- - If BIack plays 1; has stones are 1f it were; White’s turn to play,

will, take -back one stone and he will play. 2 and allthe: blackl.
is alive. ‘ : Lo stonea are dead

White .1 wounld kill all the black
stones. '

PROBLEM106 . =~ I

PROBLEM 108 . -1

5 |
Lt
% - i g - Bl
CorrectAnswer L c ‘Wrong Answer . " _ ! - = )
ith 1, CorrectAnswer ‘ If Black Plays First
If Black plays 1, all of his i Black;takes ey : -‘ﬂhlt& 1 kxlls all the  black . If it wete Black’s turn to play,

stones are alive. - White-plays at'2 and aII the black.

stones are dead ! L 1

— 144 — e — 145 —

-

"St}:\nes o '1 would glKe ‘the black stones life,
. . " H i
q
1
1




PROBLEM109 -
B NE . T
.
= : T Beec00 J
B0 : bl 2t 1
| -Correct Answer .

Correct Answer
Black 1 is the move that gives
the black grouplife.

Correct Answer

Black 1. above and below kill

the respective white groups.

ekl M
R T

. WrongAnswer
If Baq‘lk lets White play 2,
all the black stones die.

WrongAﬁsfiver

If Black were to capture a stoz‘le. :

with 1, White 2 would kill the:
. | -

BIa:ck ‘1 is the move that gives.
“the black group life..

Dlackigroup. L #1 i PROBLEM 112 | |
T i | |
PROBLEM 110 | |
OB I

: m BOCX
LOOSO-
OBLOS-

1.
Wrong Answer
Black | can take two white

. Correct Answer
.. The only move that could kill

IfWhite Plays Filst o
I¢ it wele White's turh tp- pjay, :
' { ‘would make both white groups

7 unconditionally aliﬁre.

stones thgz at his leisure, so his
group'is absolutely alive.
' 1

iis 1s “an illegal move, so Black
i a]ive. :"A‘.T..‘-r-v : - .

N
147 |
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Correct Answer. - o 'j:‘WrongAnswje_r‘ I
Black must .starl a ko fight' .t Black plays at }-';._-,Whm? will
with 1. ' R capture:four black stones v]uth-’,;‘; ‘

o _

= e ;- B O?‘Mfl . |

thélfgkzng.a stong::;_r}:- ko with 1js Taking a si%‘ne ?:1%1’;0 with 1

the, _,on‘eq'_cf.al'_!lswer_.ﬁ.i-- S here'is ba_d bechuse White 2 would
capture six L}ia'ck stones,

L

e

PROBLEMil4 - R PROBLEM 116

N
;
)
e
l.
!

i gl

.

i O‘ e % o A
v Correct Answer I Correcti Answer 2
“Black 1, which is a ko. threat, Black 1 is also good, If White
i ‘the correct -answer. If next' 2, Black -3.{In any case, Black
Whits A, Black plays B. . cannot take at 3 immediately.

Correct Answer + For Reference

Taking & stone with Black 1 ..Blac¥ 1 here also settlestheka_yi-,
settles the ko. This 1s the correct . but - even ‘though -,.;Bl__ac . will
, S eventiially take the white istone;

answet- : ' the result is less than satxsfﬁ.ctory'

yo=—t

o 148> _ 149 —
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PROBLEM 119

~ PROBLEM 117

0 .
0000
: [n ° o o
OOOBBOOSD
%%%%@%@
BBLOBBOOE

oA
, I

For Reference

This ar a_ngement of territories

(s also ¢ qct and gives the same
result r’r !

T T - |
Correct Answers - . . For Reference !
Since -White  has - occupled " ThlS isa normaliway 1o :piay;
three of the. four comers;:his E the ;opening. Eachi’side 500
game is supenor to Black s cupled two ccirners s

_ PROBLE ‘vl 1 1 8

B PROBLEM 120 é'ﬂ
; s ’ : %

B
l

e

N 1

- ~— V '-..! = 1 - ]
M CrTE
Correct Answer T wrong Answer1 _
Fither Black 1 or Black A 18 If Black plays 1 elsewncre
the correct answer. Whltu will play 2 and B]ack 13 at‘
‘adlsgavantctge . }. .

: Correct Answer 1 C rrect Answer 2 :
,:BIack 1 t0 '3 and White 4 are As the | roblem was stated, thxs
“the last points of proﬁt left, The is also correct, but White 1s better
p;imts A, called dame, have 1o by one pdmt than before,

‘walue -

— 1513;_
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Correct Answer , If White Plays First | .

By playing at 1, Black makes “If it were “Whitels turn, . he.

two eyes and lives. Theres:no would : play at’ 1. and  Black’s -

move other than 1 if Black wants igwer -eye would become i false,
to live. o o e, L s |

i
o

- .iCorrect Answer rong.Answer.
3 re-talce;:-;‘o,'z_‘he_:righr-of 2. If White iplays at 1, Black 2.
I@yl_llh;t‘g_i."cl_ﬁg;_-_the_:correct answer. turns  White’s, lower eye into a -

Black: takes: two stones with 2, faise eye and White js dead
-White retakes with.3." | ST -

R

_PROBLEM 122 e G b
OBLEV SRS T s PROBLEM 124 | |

T T T
s ¥ Tt T . A @%
- \-: 80
& @D e
B A LA
- L
- |1

i
i

i

|
\
1
18
L
iR

L . S .
N R
i B S W
| - If White %sfirizl .

y ing at 1, Black makes “If.jk were: White's - tupm, i
twlcz-3 egtlaiytlnhgd' lives. There'is no -\'.rguld,";-play.'l and B}gck wpuld
move other than 1 if Black wants hg__ve_o_ﬁly‘one eye, - . \
to live. : ' . L _

.." - Correct Answer : "‘l ‘ﬂ}.}fo“n‘g Answer :

-:4%7hite ‘1:is the correct answer. If White| plays 1, Black 2 turn
'If;f';Balackaz; White.3 defends his ‘White’s 'eyes %on the left and the
second eve., - : right into false eyes.

Corvect Answer

— 153 -
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PROBLEM 125 e T co e ;
S R PROBLEM 1
| |
b ~ A ‘f 19& {
CorrectAnswer ST Wﬁé}ig'-'Alnswer'-' : S
| ‘ W JRTCTRR CorrectAnswe :
| ThBlaCK “is the corréct answer. ~Taking“a-'stone “with' 1. Tets : "Black Las the. corre:t answer, Wrong Answer

is move gives Blac_:k___two eyes. White - play 2. oNow}" Blac-k: “has’ sinice it gives him two eyes, one: Bl;3 I}ac:i{ . lgtgv}z’}nte D After
R ' ' ? ' Cif. 13" an ite 4, Black can’t

only one eyeé and. his group d1es'?

onﬁ theleft and‘ one on the rght, - make two eyes and is dead.

 PROBLEM 126 - st
e l ) . ]
@ i
%.‘ 1o k l p PN L
Emun ] %é% 50
‘ 5 L O L R . 09T
Correct Answer' =~ S WrongAns“;Lh b Corect Answer ] '
Black 1-is the correct answer. . "I Blick ‘plays:-1; White 2 puts: Black 1:is-the correct answer Blatk 1W f;ﬁ%ﬁ: ;{ay 2. Thi
; : . This

gives him two eyes, ons-  leaves Black with one eye and a

left and one on the right. ~ dead group.

‘This move gives Black'two eyes. | ‘three black stones into atan an
R N AT alI the black stones d1 .

.“f 54~_:_ ~ 155 —

|
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PROBLEN{129 .. PROBLEM T

1008+ ‘
- ?f. ll 5 @w ’ : s
DOSBOO T
"a.‘.“
: CorrectAnswer 7 T VW-‘ -
Black 1 is the correct answer.. ... Black" I:i§ _the correct dnswer. . Black1 lg&”@ﬁfﬁﬂ;{:’ N
If ‘White 2, Black gets two eyes: . ithe COmer w1th 2. BlacK cannol Th_ls-fjrflpve-_giVe‘s him two eyes  Black danfiot make tw g' . Now,
with 3 and is absolutely alive... . make two. eyes and is dea;l. S .;md a live group. - R is dead | eyes and
Mo i i
!
i ff \
ARG
1195932
' @ anill
%@«@% D)
Y8R0
l i \)(/
|
‘ : ‘ T PR
Correct Answer : WrongAnswer . .Correct Answer _ - | Wrong Answer
Black 1 .is'the correct answer. Blacl-; lets White piay2 This ,]:’»lack I-is the correct answer, If Blalck‘i plays at I, White 2
If White 2, Black gets two: eyes L leaves Black: w1th one eye ‘md a W_]nte g,qanpot—‘--.destroy Black’s destroys|Black’s second eye and
with 3 and is absolutely alive. “dead. BIOUP R 68, 80 he is alive. - - he is deafl. |
— 157 — L
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PROBLEM 13;. . S \
.. _ L

|

i

L B ,: 5; 

|
i

Correct Answer

PROBLEM 136

rong Answer’

‘White |I. |lets Black play 2.
~ White is no reduced to one eye
and is dea&lw

|
|

Correct Answer : e Wrong Answer 1
3 retakes to. therightof 2 . - . White .1 lets “Black - play| 2. o Wlute 1-is: the- coirect answer.
White" | is the correct answer. =~ Now:: 'White. cannot .make ﬁwo : :%te now. “has two d efimte eyes
'If Black takes three stones with . eyes. and is dead ST B g and cannot be kxlled S
2, Wh1te retakes-and is alive: © - T e i A S EL S
PROBLEM 134 B -

T
1
]

|

B

‘.

|

l

]

|
u

60

) Wrong Answer 1
IfvWhite plays at 1, “Black 2

destroys’ thte s eyes: and hér
deac. - - : e 1

Correct Answer . ‘
White 1 1s the correct answer..
White has' two definite eyes .
and cannot be killed. 3

1

— 158 —

‘ Correct Answer--
Yhite T is the correct answer.

-~ White - has- two -definite eyes
: ._a_ndaf;annot be killed.

— 159 —

PWi ong Answer
If White takes a stone at 1,

‘Black 2.ledves White with only
‘one real eye|and he is dead.




PROBLEM 137, oo E |
' P R . .. PROBLEM139 ||

o]

- Correct Answer R ']Vrong'Answe;;m__, L
White ‘1 sets up 2 snapback. .~ 1f " White.-plays 2t l,Blc{c}_ _
captures with 2 ‘and - White| 15,

If Black captures, White -takes ptures I .
throe nd is alive with - ‘dead‘=since_'¢he.has‘only oric eyey .

. -CorrectAnswer. .. | :WJ(B'I‘L“""" pswer. .
-LorrechA. - - ‘ S igAnswer. .
lack. i leaves two-groups of. - Black'l lpts White save two of

‘twor.white stones’in.atari and afl.  his. stones b}'fh,;}connecﬁng at 2.
left with only one

. four- of “these 'stones :can. be Black is now
5 cagﬁ;red,.so Black s alive. . -eye and'is dead..
3

thrsié stones and
two definite eyes.

S PROBLEM 140

A

i

e

. l- ':
EB8o

L

oy 3 = .
doat
; : 1K
l L _.' ' \

Correct Answer .  Wrong\Answer
1_2,1.,1-:-l_af'is:_‘the,-:cqrrect' answer. Taking iwd stones with 1 lets
Af_te'sf}}\'hit&conneq'gs- ‘at 2, Black White play ’%?. tBlack now has
2 mafes tWo eyes and he is alive.. only one eye and is dead.

— 161 —~

Correct Answer =« - i "Pt‘f?{iﬁagmaws Sy
White 118 o Cont?{:t" et Biié-"z--'rca{ves-‘wh ite with only’
“White two definite ©YeS . f; 27leaves WS .|
Wﬁtganggst be\killed : ®% - one réal eye and hels dead. "




" PROBLEM 144

gl : f?-':?.

Correct Answer
Black 1 is the correct answer.
Rlack now has two delinite eyes
‘and cannot be killed,

PROBLEM 142:

‘Wrong Answer

I7 Black plays i, White ) leayes
Black: with only one real eye 8 'md
 heisdead.” . R |

Correct Answer
Black | sets up a snapback: if
White captures one stone, Black

will capture three. So Black has

two eyes and is ahve

- 162 —

I
. A
" Wrong Answer. ~
Bliack puts himself into at%m
with & White- captures ﬁvesto s
cwith' 4 and Black’s group i oo

::h

'PROBLEM 143

: Corre‘cr Answer
Black I is-the Correct answer.
If ‘White 2, Black plays:3 and he
118 ahve w1lh two deﬁmte eyes.

PROBLEM 144

|

|
TR -
! Wrong Answer
If Black plays 1, White nges

-atari with and destroys White’s
second eye th:4. Black is dead.

|
|
]

- Correct Answer
‘Black 1 is the correct answer.

1% ahve'

. There”is no” way that White can
destroy thlS second eye. 50 Biack

If Black, pla ys 1, White plays 2.
Even though Black can take a
sione with 3 this is a false eye
and his group is dead

163 - I




PROBLEM 147 -

' PROBLEM 45 - .

NS E -

N

Black 1 is the correct answer.
The two white stones inside
Black’s area cannot. move, 80
Black will capture them and live
with- two eyes. e

N EREERE
“Correct Answer

Black ! is the correct answer.

. The two white stones. ‘inside

Black’s area cannot move, SO

Blagk will capture thein arid live

with.two eyes. : '

© "PROBLEM 146 .

Black 1 lets’ White destroy”

oi-'Black’s eyes

: with=2, so
biack group is dead, ‘

‘one’

1. 2% - Correcrdnswer
T ,’;ABIack--la gives Whitea falseweye.
.. White now has only one real eye

-andis dead. .-

- | e :
* Correct Answer Vo Wrong Answer : S S T
“Capturing two ~stones| witifi A R T ; ISR IEE

If ‘Black-:l_plays at -1, White 2
pives his ‘
-White can never be killed..

PROBLEM 148 ..

Wrong Answer .

group two eyes and

i
0T
L
Nl

|

"Capturing two ~stones with'.
Biack I ‘lets White 'dLEStr'(T/ oneé.

of Black’s eyes. so. the | blac

g-oup is dead. -

_teaE e

' -'.Wrong'AhsWer |

" ~Correct Answer
“F, Black plays at 1, the eye
on:ithe 'Fight becomes a false
eyt;:so White is dead.

perfect ey
never be killed.

— 165 —
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: W(‘p%igAnswer
Black Iile s White form two

§ with 2, so he can
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‘Correct Answe'r

Black. 1 -is the correct answer‘ _
The only réal eye. White has-1s.

Wrong Answer *

Black * I':lets White: form two -
perfect eyes and. he can mever be

the onz on the’ ngnt Whlte 15 'k111eu---

dead. _ . _
 PROBLEM 1507,,

1 e

S P __‘

S5

==

TR

Correct Answer -

The only real eye White has 18
the lower one. Witite 18 dead.

P e I I A B

‘Black '1 is the correct answer. -

L..l RN R lll"‘i??.

Black @ilets White. form two
perfect eyes with 2, 50" he (, 13}
never be kiiled.

S66 - : ¥1

WrongAnswer AR

l
|
N

. Correct Answer

e .1 is;the correct answér
Thisi:make: the eye at.the 1top a

false; eye.. Since Black has only
—onezreal eye he 1s'dead,

oL Wrong Answer
4 retak 5 nlo the right of 3 -
‘Going afl ef; two stones with "1
lets Black Iay 2. After 3, Black
retakes witl 4!and he is alive,

1

" 'PROBLEM 152

"t - Correct Answer |
Throw'mg a stone.in at White |
is the:correct answer. This point

is now a falge eye, so Black
is dead.

Wron,ngAnswer
Playing. atan ifrom the outside
with White 1\ 1et<; Black play 2.

He now has wo real eyes and is
alive,

167 -




- o . o E

PROBLEM 1 55%;- 8

T

Wrong Answer!

o s L s A b TR

LCaorrect Answer i1 Wrong Answer

oo Black 1448 the correct, answer. If Black plays at 1, ite 2
. ;. White now has only one realeye . makeF:ﬂwo eves and secures life
Candis dead: ' for the white group. S

Correct Answer - N
‘Qacrificing one stone at Black BII"l‘a_yl‘ngl ’?n};.\ﬂ?jtt};?ii Jno\vl‘r?t#};e‘
i i vine him afalse - Black- i Iel8 W 2.
éyl:lls White by giving hlf]'! .El. _ This. move " giVeS_ _him two_ ~Ieal

eyesi .

PROBLEM 156/ ' .
S Co

" pROBLEM1S4 . |

L

T
i \
e

@
(8-

58 |
$68

il @
. Correct Aniswer = | | Wrong Answer
‘Black 1 makes the lower white Giv é atari with 1 lets White

ve a false one, so White is dead: - play 2. [Even though Black can
: S captm[e three stones, he has failed.
i

S {nswar -

2ok +is the cortect answer. . plays atil, Whitelive
Rlack 17is the corfeth answer. - = 50 - ‘plays-at:d, ot
'-Af?ggcﬁie-?exchange of 2 for 3, by '?ap‘ggn_ng .a‘.éstloslfe w1th
White is: leftwith a false eye making gnothg; r: a ~ .
_above 2 and is dead. S 5

n
at

e | "
- 168 - IR \ 169 - lw
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o t Correct Answer-'. e

- Jiack 1 is the correct. . jolle Answer
S Nat : e  answer, f. . i
,%jﬁog_pnly-the_ fqur.stones‘in atari -rstalrtslﬁal‘cﬂg ﬁgﬁs Sinos Wh'lte z
- C:t@ijﬂ Jh?_‘wmte_ stones will be not uncond tiénz‘allsmge (‘i’Vh Bk
. Pi.y_?e SRR nas failed.  |* y cad, Black

i InEENEREEN s
- Correct Answer 7 Wrong Answer- |

White 119 the correct answer. If ‘White plays at 1, caﬁtux'iing. e
All of Black : stones are dead. . two- stones, Black 2 gives [he
stonss on. the left two- eﬂ(es." o

S PROBLEM 160

Corréct ARSWer. = o Wrong Answer 1o
White 1 is the .correct answer..” - - .If‘._White‘p_layg; ata;-i.atj:l, Black -

No -matter how Black plays, he" ) gives him anoth_e_r:-‘ eyié;‘.'and his'

cannot make another eye and so - . storésate alive... e ‘

all his stones wﬂld1e

Gll@ng dcuble: atari-with 1 is

g uble: : If Black playg 1 i
‘the..cofrect answer; All the whit i b, hen hite
stones will dfes « - . . - e can live by play. i\g 2

e Co"rrect-'flnswer - Wro)zg ‘Enswer-

- 171 —
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Black 1 1s the’
“White's eye on the
and so he s ¢ead.

Correct Answer
correct answer.

right is false -

If Bla
and 4'g
iays 1

Wrong Answer - | o
at:1, White 2"
life, If Black -

tesplays 4 and .

ck plays
ive White
at‘ 2: Wh'l

cannot be killed.

|

e Correct Answer

-~ White~1 makes. Black’ . '
- White:! -Black’s eye at I
-eif1e top a false one;so Black is Blgct:‘ilc :

o dead.””

group.

PROBLEM 164

\
|
&
812580

1
| -
Wrong Answer -
te plays at 1, 2. gives.
]

13
a real eyes and a live

TR

PROBLEM 162 S
T 550 ‘%O @
; O :
RmES TOOESSS()-
OO0
N i
S IR
H I } i ) i ‘ 1 E i *
‘ V'C A : 1 11 .
| : - : : = Correct Answer S
! . L T swer " White. 1.1s th s f'f”bﬂg Answer
a Correct Answer .7 il Wrong Amdwer | ... c.-White. |15 the correct answer. If White | ]
G e atme ot LIS St o it e ke ply-2 ans 4 of s sones wi
« " White i ecause he cannot -WiLiLw nly captuiing -o - m /0 stones: it catohes the whole e F es wi
"r\flz;:: tlxire? Z?/Césb TR -would be a faiture for B14ck; black group: : be alive. | ‘1
173 b
.
!
L
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PROBLEM 165 - -

Tace

f——q - + l
L L ; S - Correct Answer - ‘
Correct Answer g Wrong Answe | iy “-Black -1 is the correct answer, 1t Bl Wrong Answer
By sacrificing two stones with f Black plays at i, Wlnte cap~ 1 .-No matter where White plays 2, w‘th‘ jck-plays 1, White lives
tures a :stone with 2. Hé has~- ke cannot make two eyes and is . A;ISWSI I];;?:grmlnm th:hconea
18 e only

Black - 1. Black reduces “White's
group t6 one eye and llulls it.

mc.de two real eyes-and is a111Ve. ;‘:\

'dead S
e E o . move that w:ll kill White,

PROBLEM 16)6 b

-
il ||

OO0
DSBS
OO0

e
8
| o &
: : IfBl k‘Pf | T }QO
Correct e Al o ack Plays First - If White Plays First
Black 1 is the: correct answer: .. -If Bzack plays Attt ; "'Black gets two: eyes and life in If White pl ays aty 1 myt.;he upper
te as -  mdkes ‘two. eyes’ w;fh;z 0 hls and lower| p ?smons he Kills the
|

black stong

“When- Black- plays 3, White:
d. : g;r-,)up is. ahve

only one eye and is df'a
o ~175 -

'1
.
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i
Brs

If Black Plays First
-~ If Black plays 1.in the upper
and lower positions, he makes

two cyes and hves

PROBLEM 170

I f Black Plays F zrst

make two eyes and dlBS

if Black plays i In the upper -
and lower positions. ‘White qannot e

176

If thte Plays First

if it’s -White’s, turn;. “White 1. .
i *he . upper and lower posatlons
. kuh the black groups B e

" ‘.-“'i

b

; porrecr Answer

"_Black '1is the correct answer.
.he four-black "stones. and. tlle
ive wlute stones hve n seki.

S WrongAnswer g
~ Black|'1}: puts his own five
stones injatari. Black has faﬂed

PROBLEM 172 \f !.',‘.
AEE

“If White Plays First |
I it's - White’s;- turn "he ¢
make two eyes and 11ve-by p aym

al A, .

Black 1 makes a seki.

"moves to break the séki by sacri-
B Fﬁcmg four stones, Black will take
: g%‘l.e stones and: make two eyes.

Correct Answer

W) ng Answer
Iayed to the left of 2
If Bla\:k\piays 1, White sacri-
fices fou}' stones and, after Black
takes . withi 3, destroys Black’s

If White

o AT

2 3wy

i

ey

B et
rat i I

e

e

oIy
AT




ROBL““M 173

o ‘ s R ComecrAnswer o ' Wrong Answer
Correct Answer -~ o U Wrong Ans'wer e : =_1.;_;_.131ack 17is/the correct answer, If|Black plays at 1, White wzll
Black 1 is the correct-answer, o qf Black plays 1, White takes q- %cther the black or white stones capt 1 three stones wzth 2.
Boith sides have one eye each and  :-stoné-and. puts ﬁva bladk SthES ‘ . onithe upp er edge can be-taken ‘
L ~or’ not will 'depend on the out-

ki . “dntoatari.. S
so it.1s seki: | o . come ofako ﬁgnt

‘PROBLEM 174 - .. .-

PROBLEM 1 76~

i
ik
I
i
' !
|
i
i
i
1

P L
I Sl
L ) bowectAnswer T : \i LWrongAnswer
i :-'Wrong Answer .Black should -start a ko fight If-Black : plays 1, White will
“White C;OgﬁeAc’:)‘meéc ans“?er; oI Whlte'tnes to:kill 1 by sacrificing - a stone with 1. ‘connect’ at 2. The black group

The life or death-of the black now has only one eye and is un-
group will now. depend on the conditionally dead.
outcome of this ko. - ’ :

. White has no’ way to kill“the . -black® stofies; he- wﬂl not! be. ap?le
three black stones s0 ‘he. must o make two eyes and will die.

settle fora sekl t\
-
]

_';';_rg;




..PROBLEM 179
T B R
il
T ‘ .
| . T S T .
! M Correqt:Ansfwer co Wrong Answer Lo
‘Black 1 is the correct answer. RS £ Black conneci$ at [1;-White 0 SN DU A I P T O : 1
White 2 starts a kKo fight and the . Lwill. play. 2, leaving: Black " with TRy - ‘ ‘ g
life "or death of the Black.group. .. “only" one. eye.: Black. is' mow_un- :?eri;‘lt-Answgr‘ B - | Wrong Answer -
' ' S T | 15:the correct answer, . If Blagk: gives atan from- th
' rom: the

will ‘depend on' the outcome:of . ¢ conditionally dead: . -
- three black stones. ‘

‘This. mo ; g M {
thisko. S ‘move:. gﬁtgl}es .ltwo white @ left side with 1, White 2 will catch

"PRCBLEM 180 |

™~
@%%%%@-' SCSSB0)
SREERD fohd t 4 (= I
. ~ - Correct Answer DR -qungAnswe:[ i N ‘ il
White 1 is the correct answer. oo oIf White connects ai };‘.Bla‘ckv T
Black 2 starts a ko fight and the = will- play 2, leaving \{\fihlte_.-;sy1ﬂ1__ . Correct Answer -
life of the _white. group will - only on¢ eye, White 18 now ;un* __l_31a9k 1 is the correct answer. If; ]\33 qunigAnswer_ _
depend on the outcorne‘of this - corditionally dead. . ' Tms “move ‘catches two white dee' Wi CK - piays atari on the
K ' : ' . R tones edge with| 1, White 2 will catch
ko. : _ o o thrge bl ck stones.
— 180 — ; C1s1- 1‘



‘PROBLEM 181 | o
ﬁi% ! QB @ : N 'PROBLEM'183 -
& 00 Ot
@%ﬁ% 1
L " @@ .
e
Q a i Q
- - : .
- B o i e |
1 , . R N .
Correct Answer ' M WrongAnswer T . -
The suquence Wmtelfollowed If White - plays -1, Black w111 T CorrectAnswer - ' Wrbthnswer |
py White 3 is the correct answer. piay 2:-and capture: Tfive Wmtc ‘ Bl'lck should -capture “two If Blagk |connects at 1, he is
White will capture seven stones stones on the next move. ; w .s‘"ones 'with:: 1.7 Even -if “White still in atariland White 2 will cap-
on the next move. - ' : . retakes. Blackisno longerm atari. ture six plack stones. This is a
- SO T T SO disaster for Black.
PROBLEM 182 -~ - \ S - : ?
— __ S i 1 : e PROBLEM 184 \ ‘i
| I I : RN
N i g | S | s BL
- < o .- . | o 1 o |=
- A ( ) i I O Y S 0 i
o Sam D 74 .
S Q@@Q@} . ! (O ‘, OO
Qe80TI M ¢ 12837 |
@QT I3 l § Tyl N I 13 P i I
. s . Ei
Correct Answer I Wrong Answer 1 o Correct Answer i TWOF?E Answer S
~ The sequence White 1 followed If Whlte connects-at 1, Black i The comect answer is to cap- If Blac ¢aptures a stone with ?}%
by White 3 is the correct answer. Wil play" 2 .and’ capture . -ture the stone:on-the. outside 1 heré, 4 snapback shape anses ;:3
w-th Black 1 =~ and Wh1te: wxll play to the left i

[}
i A o
FaVRA LT S T

witite stones on the next move. - ;
i of 1 capturmg three black stones.

White will capture seven stones
on the next move. .

e

— 183 —
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‘PROBLEM 1835 °

[

Correct Answer
If Black gives atari with 1,
the lone white stone on the edge
cannot escape.

if
I3

+
T
0
A
I

Wrong Answer kN
Blark gives atari from below o
with -1, White can no. longer be.::
captured ' after he plays 2, Now o
the three black stones-at the ’copj :

wu' be taken..

PROBLEM 186

. _]"7 sl

%

PROBLEM 187

Co rrect Answer
; lack -should™ play. 1, The
Whlte stune in atan cannot eecape

PROBLEM 188 }

g

I Black

can conne[ct
Black has $

qu'ng Answer

jves atari at 1, White
at 2. Even though

aﬁtured a white stone,

his result i$ mfcnor to the correct

answer

I
e

|
]
-

il

Ll

L
1

Correct: Answer

' After Black gives atari thh 1,
the exgnt whlte 'stones - cannot

L@@
5000

Black 1 here fails: Whe‘n
conzects:at-2," he. can nol nge

ba captured

sesl
1O 1
‘Wrong . Answer:;

i Eyen though he: loses'a stone,
Black1 is the correct answer. -

Lo B

If Black

i ”'@:&@ SO
NSRRI P LSBT
sv-Q@Q% S Al
CorrecrAnswer |

'Wi?ﬁg ‘Answer

riés to escape with I,

White exter}ds to 2 and Black’s

two  stones 6ﬁ the edge carmot

escape. Th1s 1s ,’1 bigz loss for Black.




" PROBLEM189.

i y - ¢

Lo 'Wrong Answer
If Black -plays: 1,: White’s: dght
stones can escape w1th Wkute .4,

It Biack plays'at;1, no matter.
how White replies, his exght stongs_ _
cannot avoid bemng captured. .

" PROBLEM 190

‘Con-ec:Amwer _ B
-Black] “has' no-.choice but - If
“to-connect’ with. 1; After White
. captures: thh 2, Black‘s -ares at
~-the top is intact,

. Wrong Answer
] Black ‘saves “this stone by
piaying ‘1 here, White captures
with D, and Black’s stones are
scat‘tex}ed without any base. 'I‘}us =
isa lsaster for Black.

O %‘

@@h

. Wrong Answcfr
- Af Black plays - 1, ‘White. can’
connect 1o his- outs1de stones

with 2 and escapf_:__., | |

|
i
i |
1

- Correct Answer
Black °l° is the correct answer.
Connecting at 2 is. of no help.
Black catcnes mne stones when

ne plays 3:

S 186 ERIN

‘ﬁve.__\__;vh'ite stones.on the right.

PROBLEM 19 \
| e
[ ™
1
|
i 1 i
Voo "ot K . A ~ i
-OSBO0OD OSBBOS
5B (910, 030 3 ﬂ@@@g l
@SBRSS H6892060060
1160069 Te008e
; i
-~ Correct Answer l % Wrong Answer ’
Black  should play at 1, Iac}c plays- 1 here, White
saving two stones and sacrificing captu es| two stones with 2 and
three, In this-way, hc kills the now 1siﬁve stones on the right

are conqected to the ones above.

— 187 -
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: :pRoBLEM_-ws-
: ' PROBLEM 195

- . :: \ -
Pt sl
R Wi .
I O l
] L+ RN
N
T e -
T
- L 5 ;-’-“ Lt . |
AP EE . CorrectA : . ;
: Correct Answer ~. 7 If White Plays Fzr.s‘t nswer . . \
If Black gives atari, w1th 1 he o If it were White’s’ tumLto.p' :’@"tur?:f\ﬁglymmg at 1, Blick can cap- It B!aq]?,;?f insw;r
will catch two white stones - he would . give  atar wit Ad white StOnes R with 1; lthte 231;at1'<}31m below
: IR N catchtwoblackstones r el e ;_ e o black SFOnes € .c es. three
| L .
PROBLEM 194 - ) - ‘. 'PROBLEM 196 ( !1
ik
||
i
|
|
l
UL ;
InaIY
l !
i l
T : uorrecrAnswer S WrongAnswer | Puttmg the Four whit WrOngAnswer i
tr ‘Either Black 1 :or Black: A Black 1: fails. White plays’ _ ite stones I BI -ck1 gives atari with 1 he g
+will kill the ﬁve whlte stones - in reply, puttmg five black stt,ne 'tf# connects at 2 and a E
o _;,‘mto atan ‘ ;
,".'-—-188- k:




PROBLEM 199 | | ™

e |

e !

>

' ' o ' " Wrong Answer | : R P T j ST Tt
Correct Answer Bla k.--Vlﬂrcgﬁs. White plays 2 o oL Correct Answer . . | Wrong Answer - e
Black catches one stomen a : Black not be captured. - g - Black 1 here also catches White Black 1 fails, White escapes by -
¢ when he plays at 1: This —end he can tured . o4 in a net. The two white stones  playinglat2. e -
nfong cannot escape and will-be . cannot-escape. T N

captured.

i

< 2 I

© PROBLEM20D | |
l
1
I

.‘ T L B Arswer | -
Correct AnSwer-. ... 7. . B{ﬁckl'?z{;-:(;gigls;i&vhite#l)l :
- Black -catihies two SLONES IR © A'd:”"le can;{otbecapt red.

et when ne plays 1 Thessstones and B €270
" cannot’ escapéxand :__wx]l:-"‘l? Leap-
* tured. cee T

o Correct- Answer i . \Wrohg Answer .
Black’ }'is"an example of a net ‘Black!1 |fails. White runs away
the eédgeof the.board. The  and links up with his otherstones
o white stonés cannot escape. with the se?uence to4.

- 191 —
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. . . - i H H
B PROBLEN 201+ - dlE
r@ T PROBLEM 203 |
| : ‘ HE ’
;@
g
B : borrectAnswer e WrongAnswer B T . : s
Ty I Black plays 1, the three white 1f Black plays 1,he fails. Wh“e--"_- _ Bl k""””’e"t Answer || WrongAnswer
: sfones are as good as captured, If -~ connects at-2- and ‘his stones; . RN hac I sets up-a snapback and ‘Black 1 captures one. ‘stone,” .
o Wit eaptures Black 1, Black - cannof be capfured. - - -.catehes three white stoftes. but lles White save his other two
g rotakes four stones Wlth a Snap- . R bl{ connecting at 2. Black has
e pack. . R Y R ‘ | failed.. -
o PROBLi;{MéOQ I AR - PROBLEM 204
- l
- 1l
A1
I
T R AL Correct A Wrong A
SR Wrong Answar : o ¥ nswer : rong Answer
f‘orrecrAnswer - fails:: Whit connects” . ’Black 1 setsup.a snapback and "Bl 'c 1 fails, White 2 captures
.six_white. stones can now be cap- thre¢ - black stones and afl of

et wh1te - i
Black 1. catches, ihs at 2 and his stones are safe..

" White. . cannot. -capture tured: e

~193— \
1
1

White! sl stones are safe.




PROBLEM 205

If Black plays 1, “the tﬁrée

I Black plays ‘1" here, Wh1te r:'.'_

. O..@@“ff'
T 28, o

PROBLEM 207

- v O N
__'__{’F- /D I O"'\ l N
S ,’ OO " O
i I ¥
- ———1 - 3
l ' f [ S i Rt R o 3 0 e ot
Correct Answer WrongAnswev C’orrect Answer ' et W P ‘
: ' rong Answer

Black sacrifices a ctone wﬂ:h 1

If Black| plays at 1 first, he

white - stones -in atari ~cannot coptures (two stones with 2land™. - -and then -plays 3. Whit ol : :
escape. -~ aliof White’s stones are: safe3 o % faur stones. : e has'lost ff:;lz_taWh.tte co;mects at 2.and
o ' = nes are safe. .
| PROBLEM 206 | o | L - PROBLEM 208, |
I | ! __l b . 4 s e ‘ . . ” . 3

. i " P -

I - , s
| I T OB¢
] OB
. | X
Correct:Answer . - Wrong Answer. w 'ricsngAnSWer

Black I putsisix white stones- Blacn 11¢ts White off the. hook m thls case, sacrificing a stone i
H“connects 4t 2 andenow |whers: with 1 Ieads to failure. After i

into atar and 'no. matter: what
‘White - does h1s stones cannot

. escape

White 2, !BIack has no follow-up

Biack’plays 3, White' connqcts at" o _
‘ T ~move toc pture White.

© 4 and a}l hlS stones are; safe ‘

— 195 —
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PROBLEM 209 | BT SR Pl
e il
Y 2N gu
+ S L
!7.' . - :!
) B 1
. | i , ;
' !
‘ : :
~ Carrect Answer : - ;
" White nas"proﬁted : © “a
the most with « the- ,
-sequence in the Prob- - : q
lem Diagram.. If ‘you - !
compare the dlagram - BIacki JSBad -
on the right with the . L BIack s a bad movg Yt i - 'ForReference
‘one - below, the: dlf-'- | By om letel s Black should leave the situation
S o A P Yunnecessary as it is By- playmn t 1.h
ference will be clear. I & ; ymg at 1 he loses
L one pojnt of territory.
PROBLEM 211 i
For Reference: ) 5
Occupymg anempty : T .
corner with Black 18 : D A@'—
the . most . profitable [ W - @ - o
move for ‘Black. Black . b — ;
is better by -about 30" S Black 1is Bad ForReference ‘
pomnts than the dia- o . Black 1 is a bad move, It’s. Even|ifi White plays at A he :
gram above. . - ; not necessary i‘or Black to play cannot |escape, SO there is no
: ' ths move vet. neeg to play a move here,
~197 - | ‘




PROBLEM 212 PROBLEM 21
X80 | [ T80C
2 ‘ 1
. : T[T
. d @ S
) > e
-i =_.:- 'a.:? : ‘
- - ,:' 1 : % c ';-;..-CorrecrAnswer*" . .For Reference
Correct Answer ' R If thte Plays Fzrst ERR i Black 1 creates a seki between In ﬂus seki, both sides have an-
If Rlack plays-1, a seki results o If it were White’s turh to play, .- the eight white stone.s and seven eve, |-but these eyes are not
tetween the four black and the he could capture ‘the f pur- black"-,:.- black stones.‘ ; L couqted as territory.
three White stones. e stor_}es”wﬂh 1 and 3. SEE , . : N
: ' o PROBLEM 2 15- :
PROBLEM 213 o . R T '_
. g - i
Hosesesc— 1188008
+ O + fRhEEnununn et
T L Correct Answer ' L | Wrong Answer
Correct Answer. . ER Wrong Answer 7 - 7 Blagk 1 results in a seki be- Black 1 ends in failure. The
If Black plays 1,2 sékiresults .~ - /If Black miakes any othermcve. o ~fween the five white stones and 1@651 stones arc dead as they
etween the six: wlute stones and gl w1 Whité. plays. i and“ -the six.black stones. stanfl and White can capture
the six black stones. R 'catches ﬁVe black ston \s P ‘. them any time he wants.
| | ] — 199 -




) CprOBLEMZ16 |
.. - .' TP AT
| : :'. J% Ch T VTR ;
1 v ‘:
| i N
a I 1
| . :.;1- .‘ n.‘ ll u .
! g dov . | : Sl
i 1 I I I AT A
Correct Answer A ; If W}ure Plays Fzrsr e
If Black piays 1. the black_ If it were White's- turn to pla},
stones on the left and nght are he would " play -1 and the black

connected and White. cannot
separate them,

S O Y
L

i

PROBLEN‘ 2 17

- stones would: be separated nte -

i

two groups o . L

-

- A

+

. : ;

;5

Correct: Am*wer L

Lhis stones on. the

left and .ngn_t

By playmg ‘at-1: Black links up .

-—_'200._:-5 '

If White Plays. Ftrs(

" If it were, White’s-turn fo play,

e would ‘play:1-aad the: black

stones; would ‘be: separaﬂed mto ;'

tWO gIOU.pS S _ g 1

L PROBLEM 218 | L S
1o < PnS
- Ny \/
. . N 3
IR e
- Correct Answer . | if White Plays Fzrst ¢
JIf 7 Black »plays. 1, :the two . Ifiit jwere White’s turn to play,
whxte stones above are geparatéd-  he would play at 1 and his stones::

from the ones below and these
.o - Stones will be captured by Black

0
would be' connected together in.
one group, i ‘

o - - PROBLEM z_uL :
[

+& e ¢

%

P

w!'.
1 E
|

S Correcr Answer :

By playmg at- 1, the .white
“ stone .below is cut off from the
‘-ones above and 1t will eventmlly
be captured

~201 -

H -
; J . If White Plays First

- Jf] itiwere White's turn to play,
he wolld connect at 1 and his
ston\es would become very sirong.




PROBLEM 220 -

- Correct A nswer
If Black plays atard at i, _the

captured and Black will be con- -
nected into one group.

white stone cannot avoid bemg,'

PROBLEM 2 21

: Ti.jBIack gives:atari. with 1 here
aftef the: sequence .to . White- 4
sthe . black stones cannot vo1d
bemg captured SO P

A

@' 2l
esini

" Correct Answer :
Black .1 . catches: two. white
* stones and his stones above‘and

group.

below are - connected- into.-one

202

Wrong' Answerd 11
ails.

I*" Black connects at I; he

:White - would . connect rat 2 and

-the -'six’'black stones belowl are:
cut ‘off from the top -and ]w:ll
be: capturea S L

PROBLEM 222

« f

-~

RERE Wl-ong Answer
If B]ack|plays at 1, Wlute 2 )
_reduces the black group to-one
‘eye and these stones will eventu-
ally be captixrcd.
S

PROBIEM 223 | |

.l'\ ¢ .
T .
10 P00
'Correc't‘f'lnswer S ﬁ Pl’rqlng Answer
In respcinsa to -1, White pIays

gets two .eves: and cannot be 2. Now Bac}c cannot make two
kﬂ d - eyes and will d1e )

203 —




i H E s e TR

_ 1 - . i
Correct Answer. . Jf White Plaps First |~~~} i

Correct Answer . ' D B i'WrongAnsw - o R
er. !

1f Black plays at 1, his stones “If it -were White’s turn to play; I R
are alive. : ha. would: sacrifice asstone at L. - ok “w. 1f Black : : '
s W : suome ot Jioipeee o If Black plays at 1, White can- - : : i
fter Black t(;';lptures??wl‘ﬂi_llﬂ,%‘ﬁ 0 ot make:twe oyes Lﬂnd‘;S ed gauri‘ Whlif; eBlgcl: piays at 1, he fails:
two eyes on e-‘e.dge are false. e i If White 2 is played at 3, Black will when ets two perfect eyes:.
. Fras only one real eye; 80 he dies: - .0 7 oplayat 2 with the same result enih plays at 2 and s alive. -
_:_PRQBFEM'??S:' . S " PROBLEM 227
| ORI 150 T RN LA I 0 B : ‘
T
, 71
- - %@
! Lo O_BQTCO0
T ;. _ "_ i‘@ @@@
Correct Answer . : ..

rong Answer

_ LW
thmgc;c 1 and 3 kill White, Even If Blatk connects at 1, White
1¥i";';b1:§k‘g};t6‘§§1t’fh' has - c?p_turefd a  gets two/eyes when he plays at
Ca L ,:this point is a fals ' 1bs0l i
ey, : . se 2 and 1§ aﬁasolutely alive,

Correct Answer B Wrong Answer -

‘If Black plays at 1,he can'play - - -If‘gBlacx-;plays at. 1,;

3 in response 1o White’s only f:@nd,‘_égvreduce the eye at

tnreat at.2. Black now has two  toa false one and Black is
-eyes and is alive. - - g

dead:

Y

- 204"__-—- - 205 —

L
l
i
!
%

2
|



T SN
Correct Answer
White | is the correct answer.
Even it Black takes two stones-
on the next move, White will e~
taxe and is alive.

i

i |
| _
[
T e e e e
_ I
EPNE tg'sfY.
3 l“‘ _
: Correct Answer

Jf~ Black plays-2, '_'Whi.t'e 3; if:
Black 2 at 3, White. will play.3 at.
2. In either casé, negetstwo t;yes. _

- ‘te plays at1,he i alive. f Wt : :
if White plays . , Black will play 2 an@»

¥

Wrong Answer-

. | Ii'White connects at 1,

‘Black™ wilt play at 2 and White "=

cannot make two €yes. .-

PROBLEM 22’9

he_..d

dead.’ -

=206

. Wrong Answeg. 1 .
¥f White plays any ofhier move, .
gl

pene o ez

%

PROBLEM 230 |
(&
S
y 1
o
i b f"r-" [N P O
e -Correct Answer - Wrong Answer
) b ¢ Bl_ac_k‘- plays at }_,.White can- - If B aclk. plays at 1 here, White '
.;_'B;'_ﬂOt ;gake two eyesand is tead. ~ makes two perfect eyes with 2 -
. : ) and is alive.
g PROBLEM 231 | |
1l:
T
- OGBSO
I - i 2 5
3
D&
A 'S
i Correct Answer | Wrong Answer
. %" Black 1 i§ the correct answer - If B ack plays at 1, he fails.

.«Jn response-to White 2, Black ' White 1r'ng'xkes two perfect eyes
:plays at 3..1f White 2.at 3, Black 3 by comlle(‘fting at 2.
=5t 2 In either case, White 1sdead. : ‘

- i
—~207 — |
-




PROBLEM 232~ .. = . IR ‘PROBLEM 234/% | ™%

JENEER

i 3 s i REET

I
H
i

T : =

i |3 A

S & -

! ; —] . % l 1 - - - o~
f A D S I . i I ‘l.l LR

Correct Answer - Lo If Black. Plays First o

White 1 is the correct answer. - if it ‘were. Black’s: turn tovlay, .. -

White is absolutely ahve o : Bl.;rck 1.:would reduce: ‘White t0"

‘ona eye:ard he would event_laﬁ)'r‘ e
bn captured : SEEEh

e

R L et B R CorrecrAnswer . 3 ‘ o I A
U S § 2 Black 1, 0r ‘any of B ‘ ‘ T

g -The point: _.'from ‘A to
D, wouldbe the correct
‘answer... It 1s: usnally -
‘advantageous - to - take
‘an-empty’ comer 1n the
‘opening: ' -

P TEEO
@Y

PROBLEM 433

IR *

i,

2 Wrong Answer
. = Black 1is, of course,
a good, pomt but the
empty ;corner 1s ‘still
better, After White \Zl/ T
| ‘
I

Correct Answer = - " ForReference | .
White 1 18 the correct answer "~ White can live by also playing

plays 2, Black’s posi-

White 1s ative. : at 1 here, but this isless Jproﬁia- tion is infenior. - ! ]
' able than the correct answer “’ |

2085 S o | 209 =




. PROBLEM235° ~ e PROBLEM 236

[J SV T, SR

%

-
O

P

(.
o
'
b

Correct Answer

In a position such as _ ‘ ' . T RN E N T I 2 o :
thus, extending along. | | ik EE - RS R * e _ : ; S B T =
the side is the usual T T : B CorrectAnswer : . \v V- If Black Plays First. .

way to play. Instead of

=] L v . A - Whlte 1 seals off-the area at . [If it were Black’s turn to-pla}?;

O

Black 1, playing at A, _ ‘ S the top and gives Whlte 19 points ‘Black would invade with i and
B. or ¢ would -aleo be B kA 5 .~ of temtory ; . deyagtate White’s territory at the:
good N P i E . tOJ).- | : e

PROBLEM 23’7

WY 08

2608

- o Correct Answer . If Black Plays First _
White 1'defends the last defect - i+ [f it were Black’s turn to play,
in‘White’s area at the bottomand  'he would capture three stones
gives him 20 points of territory with| 11-and 3. This would make a
there. ™ - ‘big dent n Whlte s territory.
I .

For Reference BEEEEENE 1 BV' el
Playing on such |44~ | BER e
points as A, B,or Cis Tl g R
" not good. ‘White takes [l N biiopl Bl E
the big point. on the ) T_ gy o] Tl ll =
| |

side first and has the . :; . —
advantage” = L rw i AL Ll s

—211—




SEmEN

Correct Answer .

- Black 1 is the correct answer:

If it were White’s tum to-play, . -one point iess than the move in

WmngAnsw«zr
If Black plays:at; 1, I‘U’ gau.l's-: .

th..s s where he’ would play too.  the correct answer. K

TR : PRoBLEM23°Z" R o

Correcr Answer
Blach 1 1s the correct answer

- Whif2 plays at 2 and’- Bla 1l{’

'Go is played on a-
:‘board w;th a. 19x19
grid- drawn-on it, “result-
ing in- 361 1ntersect1ons'
on .which’ the pieces, or’
5 stones as “they are usu-
Lo ally called, . are” placed..
.=, The photograph on
" the right is of a wooden
board, but: many kinds
- of ‘rmaterials_ar¢ used
* for the playing surface:
paper, - thick- wooden?
. boards W1th ~legs,. efc:
There - e also - large
magnetw boards which’
are.. used for lectures or
commentanes on 1m-
po;tant games.

i
T

lwong Answer _
if “Black: takes a. stonewith! 1. .

'
- |.|

result is inferior- 10. the “COTIE ct
answ er by one pomt b :




‘ ~Although niost--f‘go 'ga'mes are.
played-on a 19x19 board, begin-
fiers - often: learn. the game* by

with ‘169 intersections, This size
is ideal for learning how to finish
the game. o
As for the stones, a set should
~consist of 181 black stones and .
180 white stones, These stones .
~r. are  placed inside. containers,
called bowls. Captured stones
are put inside the lids of these
containers. ' :
S

* b,

Sk T L
LIRS

44;:,...:€;?; b 3.
rder to play

T

£0,

[ o

In

©technical rules.
V'V‘General Ruies T

- "i. Go 15 played by two people.:
' 2. Oneside plays with the black:
" stones, the other side with the

turns playmg ther moves. one at
a time. :

a stone on an intersection of the

on the borders of the grid.

starting off on a 13%13 board -

- gtrength:

holding-the black stones always| -

1. inthe count). -
necessary to learn only eleven” -
rules: six general rules and five:

3. A move consists of placing.
poard. Stones can also be plaged ‘

4 Once a stone s placed on an:

_ot4~

el '
. |-

totanotker point: | 7

5. When. there is.a difference
‘in -strength _between - the ~con-
testants,.the ‘weaker player places| .
_extra. stones. on the . board to!
- compensate for-the differené:e‘mi
. ‘ 1

6. In an -even game, the. sidei

-plays fitst, . but in a handicap.
game, i is White who plays first.

Technical Rules = 7
‘1. Determining the esultt
2, Capturing stones.”” .~ '
;Tirgal moves:
4.Kos o

Y -

5. Engling the gamed: - "

‘1, Determiining the results:
- The -side that has-taken the
. most territory wins the game:’
(Capturzd stones are included ...

white stones. The" players take-

Dia.  (Black and White rave “i
each captured five STONES. | e

intersection, it cannot be moved].

ia. -1, Black has taken 20
iin pper left and 22

‘total ‘of 427 points:” White has -
dken 22 :poi;’rts .in_the. upper
ght and- 19 points in the lower

" Jeft for a total of 41 points. Thus,

‘the score is 42 points for Black
4nd 41 points-for White. Black -
dvins by 1 point.

Actually, the captured stones

‘tory, so. the'ifinal score is. 37

i g-ro:upg-q‘f:_\ stones also.. If ‘all the
:lines “'le dipg?ﬁout “to'i adjacent’

ower: tight for a . i lin
intersectiong;. of .the ' group“are

2 placed in the opponent’s terr-~

i B
B Die. 2

" ".In other words, if all the lines
‘leading. out to adjacent intersec-
tions are blocked by the oppo-
nent’s stones, the stone is taken
“Gff the board.

[F ~a1s- |

Ida. 3. 3lus rule applies, o

‘blocked by the opponent’s stones;
“the whole: group is taken off the .
poard, T el
In Di‘:;.l' B, Black can capture |
four stores|at the top by playing -
atlandt r@%e stones below with'1..:

s S

1
N T
| Dia. 3

ol R
You thauld note, however,
that points diagonal to a stone
do not have any relationship to
whether |or not a stone i3 taken

“off the b[)arl.

3. I]le{%al moves.

In the four position in Dia. 4
(next page), White 1 are moves i
that cagnot be played. Such .
moves a{e called ‘illegal moves’. ¢

forbidden points for L

They | arg
White. On 'the other hand, there
s no restriction on Black with
respect to thede points.

! i
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Dia. 4 ~ Dia. 5 ' : E v &R
Dia. 5. The positions in this when-White plays 2, Black can - - - . Dia 6 _ Dia. 7
diagram may look similar to the play 3 at 4. ' N ““feft part. These stones are re- White’d territory. Ce R
ones in Dia. 4, but even though - L ;_;;move._"dfrom_uthese:_locations',‘ the - Herg,' !there are no.. defects
Black seems to be playing on-d . 5, Znding the game, *: e - ‘black stones being put in Black’s - . inside either- side’s. territories, so
prohibited point he s capturing Th= game.is over.when there . ’ . - territory and the white stones in- defensive/moves aren’s necessary.
stones. so these moves are not - are no longer _any,_p_roﬁtatle- 3 L el e M Rt I
illegal. Black 1 in each of these " pointi to te ‘taken. Now.we have .0 - A GROUP WITH TWO EYE
positions is capturing one stone, - reached the: final stage- of the - B T o R M .
two stones and three stones Te- game,. Four things must/yiow pe . .. - L Are there stones: that are com-’
spettively. In short,. capturing adomen e PR et pletely surrounded but are still- J b i
stofies, takes priority over “legal -~ L. "Both. sides must fitst agree alive? If you completely under- T
moves . . o . that tlie game is over. R | ostand the rule about illegal moves b
' - : : 2.=The neutral (damey points'. “lyou will be able to answer this T
4, Ko. : s are filled and the defects.in orj_e% 4-cquestionsh it RS A -
Diz, 6. Ko ié'a--sitxjation'g-_iiji ) terrii-'ory,-are.de_fen'ded.""- O L7 o Did, 1 Incthis diagram . thers - T ‘ R
whieh when one: side takes.a . - 3.The 'dead_Stonesa;eremoxeci v L -_are:,fhree.black groups which can ; g T @
- stome, the stone ‘that capturesis . from the bodrd: " - O _ rnever be -captured. by White. I_I? N RN _
in atari. However, it is- pot . 4. The territory is counted. |- he-lower. group, A.ancl B are il- : | o
permitted to retake the capturing” -+ In=Dia. Ty the’ points.marked - . zlegal:pomts for White and since - T4  BEOAE
stone immediately. For example,.-- wityan. X.-are; neutral  poinis. © 4. White can never play here, Black . %@
‘Black 1.takes a stone in ko. Since. i Qiice.the game 18 agreed to. be owill never be completely sur- T
White can’t retake, he will play: o overy,it ‘ddesn’t matter who ills {0 Trounded. oo o 0 _ e .
somewhere eise with 2. If Black- . these points: the ‘score:will |be 4o -Thelgomts_A an}f‘ B are c;alleci o Dia. 1
ds with 3, White can take - - - thesame., == o R e S neYes -a group has eyes In a- ok . ;
rv\re:ftph(m4 i This" nile’:-prevents un-- . Irithis diagram, there are three:. _‘.l ‘Jeast. two different places the or i thejcorner. As the groups in
- ding te etitions of the same dead: black stones in the upper = o e group: 18 said to be ‘alive’. It this diagram iliustrate, two €yes
o 't'%)n PR " nght part of the board and three . " doesnt matter where these eyes - ar® twb eyes and these groups are
posilf'lBla.ck wants to end the ko,  dead “white stones in -the upper i_i-'aare,;in the center, on the edge alive. | |
. X s _. K o s I ..; e N ] - | }
. - o , PR _ — 1
216~ coo \ wr-




)

ible for the black group on. the

right to be captured, but the black ..
group on the left will be captured . .
hy White. Look carefully at these i
tvo positions and compare” the:
difference. If you don’t under-
stand, lay the position out on-the’

poard, take the white stones and
kill Black. o
Tn short, the black group on
the nght.is alive while the one
on the teft is dead. .
Dia. 3. You now should under-

*  HANDICAP GO

When there 18 a difference in

strength between ' two- players;
the weaker player will - place

" right is alive, but even though it

,bla‘c}k
eye's.
- dead

group‘on. the left.has
it. really -doesn’t jand:
Theieyes in'that group

eyes. 'White -can play on either

of these points and capture three. -

stones in the process. - |
Femember, . it- doesn’t: matter
how. many - ‘false’ eyes your

-

may- supcrficially. seemethat |the -
two. Ll
tisn. -
are’ .
“deféctive and we call them “false’ = -

-groups have. Groups. only live if

. they. have two ‘real’ eyes. .

to sompensate for the differelnce.

8= 089 190+
s @ -0 @1
-8 P G
ST gesANE
' H -l .
L1 BN
Dia'2" Dia.’3
Dia. 2. It is absolutely ifn.po.ss— -_st_anf:i'- that;the'blaé.k-.-.gro:ﬁp._oﬁ the -

Usually, " the largest. handicap. -

given is nine stones. .

stones on certan specified pomts i
~218 - = ) o K |

o Dia.'" 1

-Japanese;t this ~handicap 18"
- called seimoku. ... "

difference in strength between

- As ‘the difference in strength-

reduced proportionately.

~ In.an. 8stone handicap
< game, the center stone 1n Dia.
101 is removed. .

cremovedin -
“In . a.+6-stone. handicap
" game, the three stones in'the
center are removed.
- In. a5stone- handicap

the corner and the one stone -
onthe center point remain. -
~-In - di* 4-stoné handicap.
game, . only the four. corner
_-stones remain. - '
- ‘Dia. 2. The placement of-
= ther
handicap game is as in this .
diagram - as - seen from the
black player’s side. From the
i+ white player’s side, the lower
right comer is--without 2
handicap stone. :
In'a 2-stone handicap game,
_thie black stone in the lower -
right corner is removed from
this diagram

‘When there is-a very. big :'

.players the weaker player will :
take -a -nine-stone handicap.

i becomies less, the handicapis

|

j- . In a- 7stone “handicap
.-+ .game, the stones at the top :
center and bottcm center are

stones in. a 3-stone -

-Dia. ] ;f;T}ﬁs diagram shows .
thé' plademerit of stones ma
'nifie-stone handicap game. In.

‘g;'clmc-,only{the four stones n . .

‘/
- 3 ”
. @ . s ;
--.Dfd..l
l
l
|
i
REAY
1 \ Dia. 2
%
|
:



"In all handicap’ games’ White:
- plays the first move starting from
~the handicap positions.

If the -difference. in strengtn
between the .two players is less.
than two- stones,
player playsfirst.

This same ‘placement of handi--

cap stones: can also be used on a
13x13 board

Komi -

In the game of go. Blat:k who =
moves first. has- the advantage.
In order to compansate for this

advantage and to make the game

an even contest, Black concedes
to White z number of pomts of
territory before the start of the
game. At the end of the game
these pomts are subtracted from
Black’s score. This. is Known as
konii. 5% pomts is ‘the  komi
usually given by Black to Wh1te

the weaker.

" prisouers ~-and deducted:. frof

E Although 1/2 pomts do not anse ) |

in actual play, it is an artlﬁcm
_-device ‘;used. in- champmnshlp
games (o ensure that draws do
' not oce .11' -
Sekl
Certain, poutmns often arise m
a game-of go in which each sidg

~ has. stones -which -do not: have{_

" “two eyes and are surrounded, bu
the stcnes arg alive and.canno
be captured. Thiskind of position

is a stalemate between groups of :
stones; it is known as seki. - E

Dia.'3. Tiie four -black stones.
and ths three white stones- facing

" each cther inthe top cenier of .

this di: Agram cannot be cautured

by eitl.er side, “This 15 an example
of seki..

~ An--iumportant condition. fo

- geki i exist:between stones

- that - afl- the: stones sunoundm :

the stcnes in'seki are alive..

. The, example of seki in. thl1 '
. diagrasn-is @ Very. gimple oiie and”
sekis arise -if- many: clnfere t:

pattems and degrees of:co

‘ plexuv :

. 'Dia. -4 (tPrr1tory in sek1) 1&1,
" this seki position, both sides hav
" an eyC, but Black can capture on

stone:with’1. (this captureroccu
© almost. always at the end of th
- game);: -Although -this- capture
" stoneswill: be. added:to: Black’

i

B ‘White’s: temtory, the eyesin bot
the - black and  white: groups al
not counted as terntory s

@ @

_('5 D‘ﬁmt‘.’k(‘oaﬁ

[ P
SRRSO

Ln:': : Dld 4 :
: D1a 5., The situation at the
ftop i this diagram seems to be

aseki. but it'is'not. White s able-
ito kill the black stones by playing

T ’called rsume-go in Japanese It is
:Jefterrsaid-that if you don’t study
| tsume-go, you wori’t get strong,
Th:s is because the life and death

_ "%8f stones is, fundamental to the

‘ ':_ zame of go, When embarking on-

. 'Yhe study-of: tsume-go the first

hing you.have ‘to thoroughly:
nderstand is the difference be-

' ';ween false-eyes. and real-eyes..

- Dia. 1 (real gyes and false eyes).

i The black group at the top has

wo_real eyes and even though it
~completely- surrounded it canl

221~

Af telr

plays

18 reduded| to one eve.

AGUIDETO ||
LlFE AND DEATH PROBLEMS;

VTN

at l'arﬁd acnﬂcmg three stones. |

Dza. 5

lack captures at 2, White
3‘ to the left of ! and Black




T

this.

never be captured; We say, in
case,that the groupis alive. .

In the black group .at the

bottom of this diagram, the eye -
on the left is a real eye, but the.
one on.the nght is a false eye.
Understanding  the  difference
between a false eye and a real
© eyeas of fundamentalimportance o
In making progress in go. o
Dia. 2 (when there are liberties/ .
dame pomnts), In Dia. L, all thei”

biack groups there were comple-- e

tely surrounded, - but in this.
diagram the black groups have -

* Iiberties . on the. outside opem.’-
They aiso have one real eye and.
one false eve each, When playmg:-
go, you- will come across many -
different types of pattems of
false eyes and you have to Be.
able to know how to make your .
‘opponent’s eyes false and how-to.}
prevent your own: eyes ~from" -
becoming faise. .

~ fundamental concepts in:master-
“ing tsume-go.. o

L222-

CiDiE 3. Th

It -is easy ' for begmniers. (o

* make: a mistake in.shapes like - -
the ciie at the top of this dlagram. .- -

_ S ore pay:
special atténtion to: this.type of:

You - should, - thereforsi-

position as well as to false.cyes

®.

Naﬁ(é.de .

then filling it. This kind 6f mdve

is cilled nakade in ‘Japanese.
Nakade and ' the understanding

of faise eyes are the two most

e group at. thetopjin -~ 37
this diagram does not have two .
-+ eyes: it*has only one.eye. When
*-all jts liberties-are filled, it will be . R
captured. The black group at the - -
“bottom, however, is alive.- .

Tt - often ‘happens - that: when e
_yotir. jopponent - has» surrounded .-
Jone: of your.groups, hb:-,plafes [
a stone inside that group; eventus -
ally reducing it to one eye apd i

- Dia. . 4. (three-point nakadc).

“In:the three - positions”in this

' .dia'gram,"i_f ‘Black - plays on the
. pomnts - A, his three groups will

e live: On the other hand, if White

.were to play on these points first,
Black ‘would eventually be re-
_duced to one eye-and his groups
would die, ‘White A, which is
played.in the middle of a black
“enclosure of three points, is called
“three:point nakade’. o
~The shapes in which it is poss-
jible- to:-kill groups. by playing
nakade range from three-point to
- six-point nakades."’ '
' ‘Groups ' with seven or more

. spaces inside are in principle

‘alive. You should first study

0O

Dia. 5

-~

com l_éﬁély surrounded - Black’s -;':
group - on. the outside and - the
black|' group 1s dead. We will"

demopnstrate this. First, White 7

plays| 1, forcing Black .to' take
three|stpnes, then in the bottom .
pqsit'q‘n,: he plays a three-point

- three-point nakades and lear el |
“ them well. : N
.~ Dia.5 (proof of death). In the t
"~ top; position, Black can capture 1
-»- three white stones, but White has 3 Dia. 6
& Cl R | >
~223 — 4




nakade move with 3, and-Black

. has no move to live.

Dia. 6 {dead stones). In’ these .
two positions, Black’s stones are

surrounded by white groups that
are  completely alive.
cases, White need make no further

move, Even if Black makes moves

nere, White doesn’t have to re-

In such-

spond Thie. black stonef are deac ”
.as they stand. At the end ofjthe
gars3, these ‘dead stones’ will be
- removed fiem the bo
In. ciosing, we wouid hke to-

recommend thar you swudy Gfe

and ‘deatli problems as. mucli as
you-can -~ this is the-best-way o

get rstrong at go,

s e e

The followmg is a list of nat;onal go anc clations throughout the: Wq;:ld
2 1f you have trouble locating other go play

“local go orgamzatton may be able to help you.

ARGENTINA
Argentina Go Association
¢fo Mr, Guillermo E. Zucat
Aroz 2730 -60;
1425 Cipital Federal
Tel. 71-3182

AUSTRALIA
Australinn Go Association,
cfo Bill Leveitt,
“Denmorna™, .
20-Cowlishaw Strest, .

- Bowe.n Hills, QLD, 4006

: AUSTRLA

Oqtamichiscner GD'-VBrbandi
cfo Dr, Alfred Kriegler,
* 1030.Wien, .
.. Rechte Bahngasse 28/2,
- Tel, 7238335

'B RAZIL .

Brazil Ki-in

c/o Mt. Toshikatsu Takamori,
Rua Mana Figueiredo,

350 Sao Paulo,

Tel, 289-4062

‘CANADA,

Canadign Go Association,
¢/o Mr. Tibor Bognar,

8982 St. Hubert,

Montreal, Quebec H2M IYG
Tel. 38‘7-1646

__‘CHINA

China Weiqi Association,
Fi-yu-goan Lu 9,
. Peking, Tel, 753110

.CZECHOSLOVAKIA

. Czechosiovak Go Association,
c,fo Dr. Dusan Prokop,
" Laubova B,
130-00 Praha 3, CSSR
Tel. 276565

4
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DENMARK
Dénmark Ge Association,
¢/0 Mr, Frank Hansen,
Ndrdre Frikavnsgade 24,
2100 Copennagen,
TeL 01-269460

FNLAND

Finland Go Asaocxation,
clo Mr. Xeijo Alho,
qusitic B A 14,

00270 Helsinki 27,

Tel, 90483401

FRANCE

Fefleration Francaise de Go,
B.B. 9506,

75262 Paris Cedex 06

F, R. EERMANY
Deutscher Go Bund,
¢/a Mr, Martin Stiassny,
Am Burgturm 2,

D-4 048 Grevenbroich 1,
Tel. 0218142021

HONG XONG

Hong Kong Go Club,
458 Nathan Road,
BtH Floor, B Flat,
Kowioon,

Tel, 3-857728

H&NGARY '
Hugga:y Go Association,
cfo Mr, Gacs Istvan, :
H-1085 Budapest,
S_alei:om [

TTALY

Italian Go Association,
c/o Raffacie Rinaldi,
'Via La Marmora 18,
Milano,

%TeL 02-581523
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